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CVKAJB.P11 SEQ 0001

IDENTIFICATION

PRODUCT CODE: AC-82188-MC

PRODUCT NAME: CVKAJBO DIS DECMAL INSTR TST
PRODUCT DATE: JANUARY 1982

MAINTAINER: DIAGNOSTIC ENGINEZRING

COPYRIGHT (C) 1977, 1982 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS
ALL RIGHTS RESERVED

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY
BE USED AND COPIED ONLY IN ACCORDANCE WITH THE TERMS
OF SUCH LICENSE AND WITH THE INCLUSION OF THE ABOVE
COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER COPIES
THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAIL-
ABLE TO ANY OTHER PERSON. NO TITLE TO AND OWNERSHIP
OF THE SOFTWARE IS HEREBY TRANSFERRED.

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A COM-
MITTMENT BY DIGITAL EQUIPMENT CORPORATION.

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS
NOT SUPPLIED BY DIGITAL.

THE FOLLOWING ARE TRADEMARKS OF DIGITAL EQUIPMENT CORPORATION:
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1.0

1.1

1.2

1.2.1

1.2.2

1.2.3

SEQ 0002

GENERAL INFORMATION

ABSTRACT

VERIFIES T WERATIW OF THE Dl DECIMAL
HE LSI-11 SUBN,CMPN, C

VINL).
CHECKS THAT EACH msfnucriou $ memrm

E
SLU INTERFACE(SEE PARA 2.3.4) AND RUNS ALTERNATE
TRAP_ENABLED, UNLESS !MIB]TED

BY THE SWITCH REGISTER (2.3.1).
HE PROGRAM 1S

THE
THE DIS HICRMS.

TO FULLY TEST THE

T
THE SOFTWARE SWITCH RE

L

I

FOLLOWING DIAGNOST

CVKAL *
CVKAJ *
CVKAB* L

DESIGNED TC RUN ON AN LSI=11 WITH 4K OF MEMORY AND
IT CAN BE RUN UNDER XXDP+, APT, AND ACT MONITORS.
ER IS AT LOCATION 176.

GIST
I=-11 DIBOL INSTRUCTION SET MICROMS, THE
S MUST BE RUN:
IS MOVE € STRING INSTRUCTION TEST

THIS DIAGNOSTIC
SI-11 EIS INSTRUCTION TEST

)
C

WHERE ‘'¢'* IS THE LASTED REVISION

SYSTEM REQUIREMENTS

EQUIPMENT

LSI=-11(kD11=-P) WI
4K OF MEMORY

STORAGE

TH A SERIAL LINE INTERFACE AND

THE PROGRAM USES MEMORY FROM 000000 TO 017104.

PRELIMINARY PROGRAMS

IT 1S ASSUMED THAT THE FOLLOWING DIAGNOSTICS HAVE BEEN RUN:

LSI-11 BASIC CPU TEST CVKAA®
LSI-11 TRAPS TEST CVKAD+

WHERE '‘+'* IS THE LASTED REVISION
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2.0 OPERATING INSTRUCTIONS

:

2.1 LOADING PROCEDURES

CAN BE LOADED UNDER XXDP+ OR
USE STANDARD PROCEDURE FOR PDP=11 ABSOLUTE BINARY FORMATTED TAPES

2.2 STARTING PROCEDURE

LOAD THE SWITCH REGISTER WITH THE DESIRED SETTING
(SOFTWARE SWITCH REGISTER LOCATION = 176)

THE PROGRAM SHOULD ALWAYS BE STARTED AT 200.
STARTING AT 200, THE PROGRAM CLEARS ALL PROGRAM PARAMETERS AND
THEN PRINTS ITS MAINDFC IDENTIFICATION. ‘END PASS'' IS PRINTED
AT THE END OF EACH FULL PASS OF THE DIAGNOSTIC.
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131

}% 2.3 OPERATING PROCEDURES

1

é;; 2.3.1 OPERATIONAL SWITCH REGISTER

1§; LOCATION 176 IS USED FOR THE SOFTWARE SWITCH REGISTER AND

1 THE FOLLOWING OPTIONS MAY BE SELECTED BY INSERTING A 1 IN THEIR
}23 RESPECTIVE BIT POSITIONS.

141 BIT1S - HALT ON ERROR

14.; BIT14 _ SCOPE LOOP

1% BIT13 = INHIBIT ERROR TYPEOUT

144 BIT12 - INHIBIT TRACE TRAP

145 BITI1 - UNUSED

14.9 BIT10 - UNUSED

14 BIT09 - LOOP ON ERROR

148 BITO - LOOP ON TEST IN SWR<05:00>

}gg BITO - INHIBIT INTERRUPTABILITY TESTS

}?f NOTE: ﬁ%%u TYPEOUTS CAN BE SUPPRESSED BY MAKING BiTS OF BYTE SENVM
15 g
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2.3.2

2.3.3

2.3.4
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RUNNING UNDER APT
THE APT MAILBOX-ETABLE IS LOCATED AT LOCATION 566.

USING THE CONSOLE INTERFACE AS THE INTERRUPTING DEVICE

THE INTERRUPTABILTIY TESTS WILL BE RUN ON ONLY THE FIRST PASS TO

AVOID INTERFERENCE WITH THE m INTERFACE. IF xurewmum

TESTS ARE DESIRED ON ALL PASSES, ANOTHER iw MUST BE u»ueo

AND ITS RECEIVER STATUS nesxstsﬁ ADDRESS ITS xms VECTOR MUST

BE PLACED IN THE APT E-TABLE AT LOCATIONS '‘SBASE'’ "svecn RESPECTIVELY.

RUN WITH ALTERNATE CONSOLE ADDRESS

TO USE A CONSOLE ADDRESS OTHER THAN 177560, THE OPERA
MUST SUPPLY THE PROGRAM WITH THE CORRECT ADDRESSES BY INSERTING THEM
AT THE LOCATIONS LABELED:

$TKS: RCSR ADDRESS
$TKB: RBUF ADDRESS
$TPS:  TCSR ADDRESS
$TPB: TBUF ADDRESS

RUN INTERRUPT TESTS WITH ALTERNATE SLU

TO USE A SERIAL LI INTERFACE ADDRESS OTHER THAN THE STANDAR
CONSOLE ADDRESS (177560 TOR MUST SUPPLY THE CMRECT ADDRESS
AND INTERRUPT VECTOR BY fNSERTlNG THEM IN THE LOCATIONS LABELED:

$BASE: *RCSR ADDRESS*
SVECT1: «RECEIVER INTERRUPT VECTOR*

SEQ 0004
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2.4 EXECUTION TIMES

THE GIVEN EXECUTION TIMES TAKE INTO ACCOUNT THE RANDOM CHARACTERISTIC

OF THE INTERRUPT TESTS. THE EXECUTION TIME OF THE FIRST PASS IS APPROXIMATELY
10 SECONDS; BUT § SEQUENT PASSES WITH INTERRUPT TESTS ENABLED COULD

TAKE AS LONG AS SECONDS. THEREFORE THE 32 SECOND EXECUTION TIME IS USED.
THE PASS TIME WITHOUT INTERRUPTS IS APPROXIMATELY 2 SECONDS.

3.0 ERROR REPORTING

IF A ROUTINE FAILS AND THE INMIBIT ERROR TYPEOUT (BIT13) OF THE SWR
IS NOT SET, THE PC OF THE ERROR IS PRINTED. THE OPERATOR CAN FIND
THE ERROR REPORT IN THE COMMENT FIELD OF THAT PC LOCATION IN

THE PROGRAM LISTING. IF HALT ON ERROR (BIT15) OF THE SWR IS SET
mgnw WILL HALT AFTER PRINTING THE ERROR PC AND ENTER THE

E.G. XXXXXX <==PC OF THE ERROR

XXXXXX <~=P(+2 OF THE HALT ON ERROR LOCATION
] <==0DT ENTERED

WHERE ‘‘XXXXXX'* IS AN OCTAL VALUE
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19
i 4.0 SUBXOUTINE ABSTRACTS
S
9 6.1 TRAPCATCHER
8 A *'.+2 = HALT'' SEQUENCE IS REPEATED FROM 0-776 TO CATCH ALL UNEXPECTED
TRAPS. THUS AL% UNEXPECTED TRAPS OR INTERRUPTS HILb HALT
AT THE VECTOR+2, EXCEPT TRAPS TO LOCATION 0,4, & 1 W{Cﬂ GO 10
1 THEIR RESPECTIVE REPORTING ROUTINES '‘TZERO'".'‘TIMTRP*', & ‘ILLTRP’.
THE OTHER EXCEPTION ss LOCATION 100 (RTC INTERRUPT VECTOR)
2;4 WHICH CONTAINS A '“.+2 = RTI'* SEQUENCE (RETURNS FROM THE INTERRUPT).
235
%gg 4.2 SCOPE
238 THIS ROUTINE CALL IS PLACED BETWEEN EACH SUBTEST. IT RECORDS THE
239 STARTING ADDRESS OF EACH SUBTEST AS IT IS BEING ENTERED & UPDATES
240 THE TEST NUMBER. IF A SCOPE LOOP IS REQUESTED IT WILL J
%21 TO THE START OF THE SUBTEST AT WHICH THE SCOPE LOOP IS REQUESTED.
24
;2,2; 4.3 ERROR
246 THIS ROUTINE CALL IS PLACED WHEREEVER AN ERROR REPORT IS DESIRED. THE
247 LOWER BYTE OF THIS CALL IS USED AS THE ERROR NUMBER. THIS ROUTINE
248 REPORTS ERRORS TO APT USING ‘‘SAPTYPE'’, TYPES ERRORS TO THE CONSOLE USING THE
glsug "STYPE'* & 'STYPOCT'' ROUTINES, AND HANDLES ERROR RESPONSES VIA SWR SETTINGS.
231
gi 4.4 $POWER
254 THIS ROUTINE SAVES ALL GENERAL REGISTERS DURING POWER-DOWN AND
255 RESTORES THEM AT POWER-UP. 1f A POWER FAILURE OCCURS 'POWER'' IS
256 PRINTED AT THE CONSOLE AFTER FUWER IS RESTORED AND THE PROGRAM
257 IS RESTARTED AT TEST# 1.
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61
4.5 NPREP
THIS ROUTINE IS USED TO STORE A COPY OF THE INSTRUCTION TEST
92 ARGUMENTS TO BE STORED IN RO==>R5.
4
S 4.6 GENR
0 THIS ROUTINE IS USED TO TRANSFER INSTRUCTION TEST ARGUMENTS
71 TO THE GENERAL REGISTERS AND TO COPY THE STACK POINTER BEFORE THE
;g TEST INSTRUCTION EXECUTION.
274
2;6 4.7 XPSW ‘
77 THIS ROUTINE IS USED TO STORED THE EXPECTED PSW OF THE INSTRUCTION
78 TEST AND TO SET THE T-BIT IN THE EXPECTED PSW ON PASSES USING
279 THE TRACE TRAP.
280
281
5323 4.8 INTR
284 - THIS ROUTINE IS USED TO DETECT WHEN THE TEST INSTRUCTION HAS
285 BEEN INTERRUPTED AND TO CONTINUE THE INTERRUPT STREAM UNTIL THE

INSTRUCTION IS INTERRUPTED.
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5.0 MISCELLANEOUS

5.1 STACK POINTER
STACK POINTER IS INITTALLY SET TO S00 (OCTAL).

5.2 PASS COUNT

' A 16 BIT LOCATION ‘‘SPASS'’ IS USED TO KEEP THE PASS COUNT. IT IS

CLEARED BY STARTING AT 200.

5.3 TEST NUMBER
A 16 BIT LOCATION ‘‘STSTNM'' IS USED TO KEEP TSACK OF THE SUBTEST
NUMBER. THIS NUMBER IS ALSO PLACED IN THE APT E-TABLE AT ‘‘STESTN'
WHEN UNDER APT.

5.4 POWER FAIL
THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. AFTER POWERING
DOWN AND THEN UP AGAIN, THE PROGRAM WILL RESTAR FROM TEST# 1
(I.E.., RESTARTS THE PASS THAT WAS INTERRUPTED) AFTER TYPING ‘'POWER"’
T0 Tﬂf CONSOLE. HOWEVER IF THE PROGRAM IS STORED IN MOS MEMORY
THAT CAN NOT HOLD DATA WITH POWER DOWN, THEN THE PROGRAM WILL NOT
RECOVER FROM A POWER FAIL.

5.5 EVENT INTERRUPTS
THIS DIAGNOSTIC CAN BE RUN WITH THE REAL TIME CLOCK ACTIVE
(INTERRUPT = 100). LOCATION 100 POINTS TO LOCATION 102
WHICH CONTAINS AN ‘RTI'' INSTRUCTION. THUS ON CLOCK INTERRUPTS,
AN RT] IS EXECUTED TO HANDLED IT.

4

.ENABLE ABS

LIST ME

.NLIST MC.MD,.CND B
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.SBTTL BASIC DEFINITIONS

+«INITIAL ADDRESS OF THE STACK POINTER #xx 1100 waw
STACK= 1100

LEQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
.EQUIV 1OT,SCOPE ::BASIC DEFINITION OF SCOPE CALL

; *MISCELLANEOUS DEFINITIONS

HT= 11 ::CODE FOR HORIZONTAL TAB

LF= 1; $:CODE FOR LINE FEED

CR= 1 $:CODE FOR CARRIAGE RETURN

CRLF= 200 $:CODE FOR CARRIAGE RETURN-LINE FEED
PS= 177776 : ;PROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT= 177774 ::STACK LIMIT REGISTER

PIRQ= 177772 : ;PROGRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 * SHARDWARE SWITCH REGISTER

DDISP= 177570 : SHARDWARE DISPLAY REGISTER

; *GENERAL PURPOSE REGISTER DEF INITIONS

RO= 0 : ;GENERAL REGISTER
R1= 4 2 sGENERAL REGISTER
R2= z; : sGENERAL REGISTER
R3= : sGENERAL REGISTER
Ré= % : SGENERAL REGISTER
R5= 15 * SGENERAL REGISTER
R6= % * SGENERAL REGISTER
R7= : ;GENERAL REGISTER
SP= % ::STACK POINTER
PC= H : PROGRAM COUNTER

- *PRIORITY LEVEL DEFINITIONS
PRO= 0 :;PRIORITY LEVEL 0

SEQ 0009
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149 BASIC DEFINITIONS

:sPRIORITY LEVEL
:sPRIORITY LEVEL

;%' 'SWITCH REGISTER'' SWITCH DEFINITIONS

PR1= &
PR2= 1
PR3= 14
PR4=
PRS= 4
Pn9= 00
PR7= 0
sW15= 100000
SWik= 400

P SWi3= 20000
sWi2= 10000
sWil= 4000
SW10= 2000
sW09= 1000
sW08= 400
sWo7= 200
SWwoé= 100
SW0S= 40
SWoé= 20
sWo3= 10
SW02= &
SWo1= %
SW00=
LEQUIV SW09,SW9
.EQUIV SWO08,SW8
-EQUIV SWO7,SW7
.EQUIV suog.sus
.EQUIV SWOS.SWS
"EQUIV SWO&.,SWé
-EQUIV SW03,SW3
-EQUIV SW02.SW2
.EQUIV SWO1,Sw1
.EQUIV SW00.S
BIT1S5= 1
BIT14= 40000
BIT13= ;oooo
BIT12: 10000
8IT11= 4000
BIT10= 2000
8IT09= 1000
BITO8= 400
st 1%
axrgg; 40
BIT04= 28
BITO3= 1
BIT02= &
BITO01= g
BIT00=
.EQUIV BIT09.81T9
.EQUIV axros.axrg
.EQUIV BITO07.BIT

:*DATA BIT DEFINITIONS (BITO0 TO BIT15)
5= 100000

SEQ 0010
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000014
000014
000020
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000240
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000000
177777
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BASIC DEFINITIONS

.EQUIV BIT06,BIT
.EQUIV B

&

m

D

| =

L]

<
oo
By G b

g

’
703.8.
.EQUlV BITO 8172
.EQUIV BIT01,BIT
.EQUIV BITOO.BITO

:+BASIC ‘'CPU"* TRAP VECTOR ADDRESSES

[ 4
o
’
’

ERRVEC= & :TIME OUT AND OTHER ERRORS
RESVEC= 10 ..neseuvso AND ILLEGAL INSTRUCTIONS
ralrvec=14 33T BIT
TRTVEC= 14 STRACE TRAP
BPTVEC= 14 : BREAKPOINT TRAP (BPT)
JOTVEC= 20 ..1npur/ourpu1 TRAP (IOT) ##SCOPE**
PWRVEC= 24 :POWER FAIL
EMTVEC= 30 ..EHULATOR TRAP (EMT) #*ERROR*+
TRAPVEC=34 S"TRAP'* TRAP
TKVEC= 60 SS1TY KEYBOARD VECTOR
TPVEC= gk ::TTY PRINTER VECTOR
PIRQVEC=240 :PROGRAM INTERRUPT REQUEST VECTOR

APTSIZ2E= 550

APTENV= 001

APTSPOOL= 100

TCSUP= 040

$SWR= 171400

$SWRMK= 300

8IT= 20

$TN= }

= $TN=-1

NXM= 177777

ABASE= 177560

AVECT1= 60

.SBTTL TRAP CATCHER

=0
;*ALL UNUSED LOCATIONS FROM 4 = 776 CONTAIN A '',+2,HALT"
;*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPT $
*LOCATION g CONTAINS O TO.CATCH IMPROPERLY LOADED VECTORS

DISPREG: UORD 8 :;SOFTWARE DISPLAY REGISTER

SWREG: .WOR :;SOFTWARE SWITCH REGISTER
.=0
§£8R0 ;SET LOCATIONS 0,4,6 TO ERROR REPORTS
TIMTRP
340

ILLTRP

SEQ 0011
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CVKAJB.P11 deJAN-gz og: TRAP CATCHER SEQ 0012
E}; 000012 000340 - 340
1% %
5§15
219 000100 .=100
1 ooo1og ooo1os 'WORD 102 ;HANDLE EVENT LINE INTERRUPTS
g}g 000102 00000 JMORD 2
5§20
5§21 000200 .=200
gi 000200 007167 000512 JMP START ;STARTING LOCATION FOR PROGRAM
524
525 000400 .=400
ggg LSBTTL ACT11 HOOKS
Sza tttttttttlttttttttﬁtt"it*ttttittttttttitttttitttttttttﬁttttttt
sgg *H00KS REQUIRED BY ACT11
5 000400 $SVP(=. :SAVE PC
531 000046 =46
gg 000046 o1aegg sggng ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
§3, 000052 500600 ‘WORD 0 ..2)ser LOC.52 TO ZERO
535 000400 =$SVPC : RESTORE PC
ggg .SBTTL APT PARAMETER BLOCK
538 X 1223232223331 2322232382228aat2z2223233 2331333313333 3333232323333 20234217]
539 §Er LOCATIONS 24 AND 44 AS REQUIRED FOR APT
Sl.o tttttttttttttttltltt'*tt'ttltttttttlt.tttttttittttttﬁtttttttttt
541 000400 .$X=.  ;:SAVE CURRENT LOCATION
54 000024 =24 :SET POWER FAIL TO POINT TO START OF PROGRAM
543 00002¢ 000200 200 ..ron AFT START UP
5644 000044 .=b4  ::POINT TO APT INDIRECT ADDRESS PNTR.
545 000044 000400 $APTHDR ::POINT TO APT HEADER BLOCK
000400 .=.8X  ::RESET LOCATION COUNTER
S‘? 32 2333333223322 3323:233222323:¢22:22t23311333313333 333333333323 333334%]
*SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
ggg ~INTERFACE SPEC.
551 000400 $APTHD :
552 000400 000000 SHIBTS: .WORD 0 ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
553 000402 888366 SMBADR: .WORD  SMAIL  ;:ADDRESS OF APT MAILBOX (BITS 0-15)
554 0004604 30 $TSTM: .WORD 30 SRUN TIM OF LONGEST TEST
555 0004 0 SPASTM: .WORD 40 ..nun TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
556 00041 SUNITM: .WORD i'IONAL RUN TIME (SECS) OF A ASS FOR EACH ADDITIONAL UNIT
ggg 000412 00002 .WORD sersuo-shaxL/ 2 ;LENGTH MAI sox-EtAaLE(uonos
5§59




MAIN. MACY11 30(1046) 22-JAN-82 08:50 PAGE 14 ~
oA o Y1300 AN 82 ofce COMMON TAGS SEQ 0013
.SBTTL COMMON TAGS |

3312223222223 3 3233222322222 R i i aa i i d i ddddididlddd ]

;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

SEELETLEREE

000500 .=500
000500 $CMTAG: ;:START OF COMMON TAGS
000500 000000 .WORD
00050 888 $STSTNM: .BYTE :;CONTAINS THE TEST NUMBER
00050 SERFLG: .BYTE : SCONTAINS ZRROR FLAG
271 %sol. m SICNT: .WORD O :SCONTAINS SUBTEST ITERATION COUNT
72 5 SLPADR: .WORD O *CONTAINS SCOPE LOOP ADDRESS
575 000510 000000 LPERR: .WORD 0 : *CONTAINS SCOPE RETURN FOR ERRORS
574 000512 000000 SERTTL: .WORD O *SCONTAINS TOTAL ERRORS DETECTED
575 000514 000 SITEMS: .BYTE 0 *SCONTAINS ITEM CONTROL BYTE
5;9 000515 001 RMAX: .BYTE 1 : SCONTAINS MAX. ERRORS PER TEST
57¢ 000516 000000 $SERRPC: .WORD O ::CONTAINS PC OF LAST ERROR INSTRUCTION
578 5 $GDADR: .WORD O :3CONTAINS ADDRESS OF °‘GOOD® DATA
5§70 5 ADR: .WORD O :5CONTAINS ADDRESS OF 'BAD' DATA
580 524 0 $GDDAT: .WORD 3 :CONTAINS °*GOOD' DATA
581 000526 000000 $BDDAT: .WORD *3CONTAINS "BAD® DATA
28 0005 3%383 JWORD 0 * SRESERVED=-NNT TO BE USED
0005 WORD O
58, 0005 000 $SAUTO8: .BYTE 0 :sAUTOMATIC MODE INDICATOR
S 000535 000 $SINTAG: .BYTE 3 : S INTERRUPT MODE INDICATOR
8885 -WORD
58 54 1:992% SWR:  .WORD DSWR :sADORESS OF SWITCH REGISTER
588 000542 177570 DISPLAY D DDISP : SADDRESS OF DISPLAY REGISTER
gao 000544 msgg $TKS: 17 "8 :3TTY KBD STATUS
90 000 1775 $TKB: 17756 $STTY KBD BUFTER
88855 177564 $TPS: 177564 SSTTY PRINTER STATUS REG. ADDRESS
552 177566 $TPB: 177566 $STTY PRINTER BUFFER REG. ADDRESS
5 SNULL: .BYTE 0 $:CONTAINS NULL CHARACTER FOR FILLS
55 SFILLS: .BYTE 2 $:CONTAINS # OF FILLER CHARACTERS REQUIRED
ssg 01 SFILLC: .BYTE 12 :: INSERT FILL CHARS. AFTER A 'uns '553"
55 STPFLG: .BYTE 0 " TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
SESCAPE: 0 :SESCAPE ON ERROR ADDRESS
7 SQUES: .ASCII /2/ SQUESTION MARK
15 SCRLF: .ASCII <15> % SCARRIAGE RETURN
564 12 $LF: ASCIZ <12 ::LINE FEED

"Qt.t..t't.t.ttQt..tt"it'.t'..l;.tttﬁtilﬁt"'t.'tttﬁﬁt't'ti*tti

"SBTTL APT MAILBOX-ETABLE

s o ARRARRAANNRRRAARNRAAAARCR RN RARAARNRAAARAANRANANAAARAARENAARRNRACER

sacesesesnsesystsasags

JEVEN
l%: ::APT MAILBOX
GTY: .WORD AMSGTY ;:MESSAGE TYPE CUOE
ATAL: .WORD AFATAL ::FATAL ERROR NUMBS
TESTN: .WORD ATESTN ::TEST (]
ASS: .WORD APASS ;:PASS EM :
1 EVCT: .WORD ADEV%T ::DSVIC SMT
1 IT: .WORD AUNI ::1/0 UN Hﬂgl
61 MSGAD: .WORD AMSGAD ;:MES Dl; S
614 SMSGLG: .WORD AMSGLG ;:MES NGTH
615 SETABLE: ::APT ENVI NT TABLE
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61? SENV: .BYTE AENV  ::ENVIRONMENT BYTE
61 SENVM: .BYTE AENVM  ::ENVIRONMENT MODE BITS
613 1 $SWREG: .WORD ASWREG ::APT SWITCH REGISTER
61 1 SUSWR: .WORD  AUSWR ..usen SWITCHES
g? 00061 $CPUOP: .WORD  ACPUOP 6its YP .omous
i v 11/5 33 1?/os=oz 11/20=03,11/40=04,11/45=05
i 11770 oo or.os
4 i BIT 10=REAL TIME
S i BIT 9=FLOATING PO]NT pnocesson
‘# BIT MORY MANA
7 00061 000 1: .BYTE AMAMSI ..mu ADDRESS n.s. avrs
8 00061 000 SMTYP1: .BYTE AMTYP1 ;:MEM,
* hEm. me fe == (HIGH BYTE)
¥ NSEC CORE=001
1 e g NSEC BIPOLAR=002
63% “ usec nossoos
633 000620 000000 §MADR1: .WORD AMADR1 ;;HIGH ADDRESSBL :
634 ‘o MEM.LAST ADDR. ss avrss THIS WORD AND LOW OF ‘‘TYPE'' ABOVE
635 00062 000 $MAMS2: .BYTE MS% ..mu ADDRESS .M.S. BYTF
636 00062 000 SMTYP2: .BYTE AMTYP ..m. TYPE ,BLKA?2
637 % 000000 SMADRZ: .WORD  AMADR MEM.LAST ADDRESS,BLKA#2
638 6 000 SMAMS3: .BYTE AMAMSS ::HIGH ADDRESS.M.S.BYTE
639 7 000 SMTYP3: .BYTE AMTYP ..nsn TYPE ,BLKA3
640 000630 000000 SMADRS: .WORD AMADR3 ::MEM.LAST ADDRESS.BLKA3
641 i 000 SMAMSL: .BYTE  AMAMSS ..mcu ADDRESS M. S.BYTE
a.g 00063 000 SMTYP4: .BYTE AMTYPS . TYPE ,BLK#%
643 000634 000000 SMADRG: .WORD AMADRG ::MEM.LAST ADDRESS,BLKA#%
644 000636 000060 SVECT1: .WORD AVECT1 ::INTERRUPT VECTOR#1,BUS PRIORITY#1
645 000640 000000 SVECT2: .WORD AVECT2 ::INTERRUPT VECTOR#28US PRIORITY#2
646 000642 177560 SBASE: .WORD ABASE ::BASE ADDRESS OF EQUIPMENT UNDER TEST
e il
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649
650
651
65
65
654
655
65
65
658
659
660
661
&i 000644
664
665 000644
66_6' 00064
& o00es
s 000ess
670 000656
2;1 000660
e 006E2
674 000666
675 0006
676 0006
677 000674
678 000676
679 000700
680 000702
681 000704
68; 000
683 00071
684 00071
685 000714
586
687
688
689
690 000712
691 0007%
692 000726
69
694
695 000
696
697 74
698 764
gas 000748
701 00075
4 @%65
704 792

(104 -JAN-82 08:50 PAGE 16
SZ ERROR POINTER TABLE SEQ 0015

.SBTTL ERROR POINTER TABLE
tTHIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR TMT CAN OCCUR.

5067 17764

§5067 17764
5067 177640

2
1
12706

1§§§ 000500

i 1

*THE INFORMA

c 2

ORMATION IS OBTAINED BY USING THE INDEX

FOUND IN
*LOCATIW SITEMS. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
s*NOTE1: IF SITEMB

;*NOTE2:

IS 0 THE ONLY PERTINENT DATA IS (SERR
EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAI'ED AS FOLLOWS:

3, ::POINTS TO THE ERROR MESSAGE
DH :SPOINTS TO THE DATA HEADER
DT :SPOINTS TO THE DATA
DF :sPOINTS TO THE DATA FORMAT
MORD O :SOURCE1 LENGTH
.WORD *SOURCE1 ADDRESS
MORD 0 *SOURDE2 LENGTH
WORD O *SOURCE2 ADDRESS
-WORD *DESTINATION LENGTH
.WORD BUF *DESTINATION ADDRESS
-WORD nu. CHARACTER
.ugno 0 :TRANSLATION TABLE ADDR
177564 :TCSR ADDRESS OF SLU ussn FOR INTERRUPTS
177566 :TBUF ADDRESS
64 s TRANSMI T xuremr VECTOR
£ :  AND PSW LOCATION
0 :ADDRESS OF TEST INSTRUCTION TO INTERRUPT
8 E%gégupggoss AFTER EXECUTION OF TEST INSTRUCTION
0 :STACK POINTER VALUE BEFORE TEST INSTRUCTION EXECUTION
0 *BAD STACK POINTER VALUE
3 :ADDRESS WHERE UNEXPECTED TRAP OR INTERRUPT OCCURRED
0
0
CLR SFATAL :CLEAR ERROR NO.
CLR snscm :CLEAR MESSAGE TYPE
CLR STEST *CLEAR TEST NO.
INITIALIZE ms COMMON TAGS

:CLEAR THE COMMON TAGS (SCMTAG) AREA
MOV #SCMTAG,R6 :FIRST LOCATION TO BE CLEARED
CLR (R6) + sCLEAR MEMORY LOCATION
(MP tsm R6 ;DONE?
BNE :LOOP BACK IF NO
MOV ,SP ssrw THE STACK POINTER

SINITIALIZE A FEW VECTORS
MOV oﬁs arIoTV c xor v;cron FOR SCOPE ROUTINE
%S asfgTveCs vec’ Em VECTOR FOR ERROR ROUTINE
MOV 'ﬁo uénwms :LEVEL ;
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ZggJAN-gZ 0‘:6

CVKAJB.P11 INITIALIZE THE COMMON TAGS ~ sEa 0016

705 001 12737 016764 MOV #STRAP , 4 TRAPVE ECTOR FOR TRAP CALLS
7o$ 18% 12737 0 g'i MOV #340 ahmvscé :LEVEL ¥
70 1016 012737 01 % MOV #SPURDN N, vsc :POWER FAILURE VECTOR

1o§4 19737 gs MOV  #340,a#"WRVEC+2 :LEVEL 7
709 1345 16767 013510 01 MOV SENDCT,SFOPCT  ;SETUP END=-OF-PROGRAM COUNTER
710 001 067 177514 CLR ;s APE :CLEAR THE esw& ON moa ADDRESS
711 001044 112767 000001 177443 MOVB  #1,SERMAX :ALLOW ONE ERROR PER TEST
71; mn;auze THE "“T-BIT"" TRAP VECTOR. THEN ;w“wcmon"
4l END-OF -PASS"* (SEOP) RGUTINE, WITH A "RTI "RTT
71& 001052 81 7 014650 000014 MOV #SRTRN, a#TBITVEC ser "T'* BIT VECTOR TO SRTRN
715 001060 012737 000340 16 MOV mo amnvm *LEVEL 7
719 881062 12767 5 013554 MOV RTRN :SET smn TO A RTI
7 1076 013767 00001 177608 MOV me&vsc TEMP  :SAVE ILLEGAL msmucnon TRAP VECTOR
718 oo1105 012737 001130 00001 MOV #2S . MRESVEC  :TRY TO DO A RTT
719 001110 005046 CLR -(SP) :DUMMY PS
720 001112 012746 001120 MOV #18,=(SP) *AND PC
721 001116 RTT STRY THE RTT
72; 001120 012767 000006 013522 1$: MOV #RTT,SRTRN SRTT IS LEGAL==SET SRTRN TO A RTT
723 0011 02 BR 3:
726 0011 ;gg 10 $: ADD T ILLEGAL==CLEAN OFF THE STACK
725 001134 016 177550 000010 3$: MOV rsnﬁ mesvec nssrong JLLEGAL msmumou TRAP VECTOR
726 001142 005067 013510 CLR s BIT :CLEAR BIT SWITCH
727 001146 015 67 001146 177332 MOV ..su.mn mxmuze THE LOOP ADDRESS FOR SCOPE
728 001154 012767 001154 177326 MOV #. . SLPERR *SETUP THE ERROR LOOP ADDRESS
%g SSETUP FOR A SOFTWARE SWITCH REGISTER.

oom% 012767 000176 177350 MOV #SWREG, SWR “POINT TO SOFTWARE SWR

731 001170 012767 000174 177344 MOV #DISPREG,DISPLAY’
77:3 001176 005067 177372 CLR $PASS :CLEAR PASS COUNT
73% oo1zo% 132767 000200 177377 BITB  MAPTSIZE.SENVM :TEST USER SIZE uuosn APT
735 001210 001403 BEQ 4 SYES,USE NON=APT SWITCH
nng %} }3 012767 000610 177320 - MOV #SSWREG, SWR *NO,USE APT SWITCH REGISTER
738 001220 026737 013360 000042 CMP SENDAD , a#42 ;UNDER ACT112
739 007226 001424 BEQ BEGIN :BR, IF YES (SKIP PROGRAM ID TYPEOUT WHEN UNDER AACT)
740 001230 104401 017032 TYPE, NAME
761 :SET UP ADDRESSES OF sw TO USE FOR INTERRUPTABILITY TES
7642 001234 013700 000642 MOV aNSBASE ,RO :GET ADDRESS OF THE SLU
743 001240 7 W ADD #4,R0 SADJUST TO TCSR ADDRESS
764 001246 01 MOV RO @#TCSR :STORE TLSR ADDRESS
745 001250 005 gg TST (RO)+ :ADJUST TO TBUF ADDRESS
746 001252 0129 MOV RO, a#TBUF *STORE TBUF ADDRESS
7247 001256 013700 MOV uixsm RO “GET SLU INTERRUPT VECTOR
748 001 ADD *ADJUST TO TRANSMIT INTERRUPT VECTOR
749 001 1 0 MOV RO @FTVECT *STORE TRANSMIT INTERRUPT VECTOR
750 00127 S gg TST (RO)+ SADJUST TO TRANSMIT INTERRUPT PSW
gi 001274 010037 000672 MOV RO, NTPSW *STORE TRANSMIT INTERRUPT PSW LOCATION
75
;ssg 001300 106427 000200 BEGIN: MTPS  #200 ;SET PRIORITY TO 7
73$
758 ttttttttttttttttttttttttttttt'.ttlttttttttttttlttitttﬁt!tittttt

;23 *TEST 1 TEST 'ADDN'* WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID

!tttttttt'ttttt!t'tttt"it'ttttiittttttt'ﬁ.t...tt't.t'!.'ttttt!
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CVKAJB.P11 TEST "ADDN'’ WITH SOURCE1 LENGTH =0 & SOURCEZ2 STRING VALID , SEQ 0017

761 1 TST1: SCOPE

76§ 1 7 013420 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

76 131 0 :SMCE LENGTH

764 131 s1IM +:SOURCE1 ADDRESS

765 131 1 :SOURCEZ LENGTH

769 1 s2T +SOURCEZ ADDRESS

76 1 0 DESTIMTIW LENGTH

768 1324 013474 JSR LBUF C EAR BUFFER AREA

;93 1 00001 mgs:. MOV wi . TEMP1 :SAVE TIMEOUT ﬂw VECTOR CONTENTS

1 000012 177350 MOV " TEMP2
71 001 1402 000010 MOV mcbm 2‘10 :POINT TIMEOUT VECTOR TO TEST CONTINUATION
77_;; 00135 340 000012 MOV
1 1 JSR as xﬁsu ;STORE EXPECTED PSW VALUE

774 001 LWORD 217
775 001 013366 JSR PC,GENR :SET UP GENERAL REGISTERS
77'# 001372 SCC
% 001374 T1: ADDN EXECUTE "‘ADDN'* INSTRUCTION

780 001376 ERROR 1 sannnnnnnnnaasasTEST 1 - ERROR I1eeastatantttens
781 DECIML INSTRUCTION DID NOT TRAP ON

782 A ZERO SOURCE1 LENGTH

77843 001400 000464 BR ENDT1
785 OOMOS TI1CONT:

786 001402 020067 177236 CMP RO,S1LN sCHECK RO UNCHANGED

787 001406 001401 BEQ 64$

788 001410 104002 ERROR P senannnnnnennstaTEST 1 = ERROR QAR ARRARRLAES
789 RO CHANGED .

790 RO SHOULD STILL EQUAL CONTENTS OF ‘‘SILN'’

791 001412 020167 177230 648: CHP R1,S1ADR CHECK R1 UNCHANGED

79; 001416 001401 BEQ 5§ f

79 001420 1 ERROR sannnannsseanesxTEST 1 - ERROR Jarrnantnnnttaty
794 R1 CHANGED ‘ "

795 R1 D STILL EQUAL CONTENTS OF ‘‘S1ADR'*

199 001422 020267 177222 65%: g R2,SCLN .CHEC UNCHANGED

797 001426 091401 BEQ 6c$

7733 0014 ERROR 'A t;tttttttttttttl’EST 1 = ERROR 4rressnannnntnns
800 R D STILL EQUAL THE CONTENTS OF °‘S2LN'’
801 8814;2 020367 177214 6(S: CMP R;‘SZADR : CHECK UNCHANGED

00; 14 1401 BEQ
?ég 0014640 ERROR ﬁnntnattnﬂEST 1 = ERROR Strtnsnssnnnntne

SHOULD STILL EQUAL THE CONTENTS OF ‘°S2ADR'‘

ao; 1442 87 177212 678: (0,1 R4 FILL SCHECK Ré& UNCHANGED

80 1 1401 BEQ 688

% 145 106006 ERROR & ;znm;tnn‘rsﬂ 1 = ERRCR 6ttanastnnantees

C

810 Rlo D STILL EQUAL THE CONTENTS OF "FILL"
81 1452 567 177200 6b$: CMP RS,.DSTAD sCHECK RS UNCHANGED

1 14 1401 BEQ o

}‘ 1 1046007 ERROR téttttttt;ttttthSI 1 = ERROR 7rttanasasanines
15 R SHOIM.D STILL EQUAL THE CONTENTS OF ‘DSTAD"
§16 001462 69%:
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CVKAJB.P11
817 00
81 1
81 14
147

é 15
&

5 88}502
3229 00151
%E 001514
832 001516
e o
834 881 524
835 0015
836 001532
837
838
839
840 001534
841 001540
84; 001546
84
844 001550
845 001550
849 001551
847 001551
848
849
850 001525
851 0015
85
85
854
855
856
857

m-ﬁzoi

1774
1772
001376
000522
000004
000702
00155
700 000002
177134 000010
177130 000012
013136
1321
10 177072
: 1 1778?§
6 06001
13176
013104

2= AN~82 08: 50 PAGE 19

F 2

TEST “ADDN'* WITH SOURCE1 LENGTH =0 & SOURCE2 STRING VALID

1$: CMP

2$: MOV

3s: MOV

S171:
$2T1:

.BYTE
.EVEN

MOV
MOV

ENDT1:

%.60 RO

ao EXPPSW
18’
10

égp).lt1+2
%§P).alsavoR

SP.RO

#4 RO
RO,a4#SAVR6
3$

12

#ENDT1, (SP)
SWEXPPSW, 2(SP)

60
60

TEMP1,3410
TEMP2 3412

sCHECK PSW AT TIME OF TRAP

cannanntntntn®eaTEST 1 = ERROR 10teneanananeanen

:PSW_ERROR : ,
SEXPECTED PSW IS STORED AT “EXPPSW’
:RESULTANT PSW IS IN RO
:CHECK ADDRESS OF TRAP

;STORE BAD ADDRESS
tttttttttttttttTESI 1 « ERROR 11tatansantatttts
:TRAP ADDRESS ERROR
EXPEC7ED ADDRESS IS *T1+2
RESUL!ANV ADDRESS IS STORED AT
sCHECK SP RESTORATION

*'$SBDADR'’

sannanannaneanasTEST 1 = ERROR 12¢ttneaenanavnns
sSTACK POINTER WAS NOT RESTORED :
EXPECTED SP VALUE IS STORFD AT "SAVRG :
ERRWEOUS SO VALUE IS AT 'BADR6'’

RESTME SP ¢ PSW

:SOURCE1 STRING
;MOST S GNIFICANT DIGIT
:SOURCE2 STRING

:MOST SIGNIFICANT DIGIT

sRESTORE TIMEOUT VECTOR CONTENTS

ttttlttitttttlIttttttittti'ttﬁttﬁtt'tttt..tt.tttt'..t.l.'.t.'tt

TEST *ADDN'* WITH A POSITIVE LEADING SIGN SOURCE1, & VALID SOURCE2

ttttttt.t!tt'!.tt..tt'ttit.iil*ttitt.ttitt.t.ttt.tttttt.t't.tti

-'TEST 2

t812:  SCOPE
JSR

?5.NPREP
%1[2
3272

LBUF
ad LTEMP1

*TEMP2
nz ONT gno

g;xﬁsu
PC GENR

sPREPAR ARGUHENTS FOR INSTRUCTION TEST
:SOURCE] LENGTH

:SOURCE] ADDRESS

: SOURCE LENGTH

:SOURCE2 ADDRES

DESTINATION LENGTH

;CLEAR BUFF

ER AREA
;SAVE TIMEOUT TRAP VECTOR CONTENTS

sPOINT TIMEOUT VECTOR TO TEST CONTINUATION

;STORE EXPECTED PSW VALUE
sSET UP GENERAL REGISTERS

SEQ 0018
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873

ERRANE

2%
8888 8

SHEREENERREELE LR R R AR A 20

8888

VO
W

O
S

00
PO
O

)
&

001656
001660

888 8388 8
8% RIFR R

888
332

N~
d
&»H

888
NS

888
P

e )
NN

o

888828

8 PR Y- W N, Y
g NN 2N

AN-SZ 032- AN-82 08:

076050
104001

1401
104004

176754
176746
176740
176732
176730

176716

177400
176720

001660
000522

6 2

so PAGE 20
T2 TEST "ADDN'’ WITH A POSITIVE LEADING SIGN SOURCE1, €& VALID SOURCEZ
T2: ADDN sEXECUTE *'ADDN’'‘ INSTRUCTION
ERROR 1 sunnnnnnentttddJEST 2 « ERROR Itewtataateatves
’ :DECIMAL INSTRUCTION DID NOT TRAP ON
;A POSITIVE LEADING SIGN SOURCE1
BR ENDT2
T2CONT:
g?; RO‘SN.N sCHECK RO UNCHANGED
EREROR g‘ tatttttt;tttlttTEST 2 = ERROR 2%tttttattttttts
CHANGED
;RO SHOULD STILL EQUAL CONTENTS OF ‘‘STLN''
648: glE'o' R}‘SMDR :CHECK RT UNCHANGED
ERROR g sennnnnnnnnatddsTEST 2 = ERROR Jreanenannannnes
sR1 CHANGED
:R1 SHOULD STILL EQUAL CONTENTS OF ‘‘STADR''
65$: SFEI; &SZLN :CHECK R2 UNCHANGED
ERROR 4 ttttttttg;tttttTEST 2 = ERROR 4retnanatnanatnn
né D STILL EQUAL THE CONTENTS OF '‘S2LN'’
66$: g?; R%S?ADR : CHECK UNCHANGED
ERROR g sanannnnnnataanaTEST 2 = ERROR Stevennnanenanes
:R3 CHANGED
sR3 SHOULD STILL EQUAL THE CONTENTS OF °‘‘S2ADR"’
678: g?; zgiﬂu :CHECK R4 UNCHANGED
ERROR 6 sunnnnnannnaaateTEST 2 = ERROR Orevrnnaetnnnees
:R4 CHANGED
:R& D STILL EQUAL THE CONTENTS OF "FILL"
68$: S'E'O’ Rg‘DSTAD :CHECK UNCHANGED
ERROR ? sasannnnnsaettttTEST 2 = ERROR 7onvtntntnvsntns
:R5 CHANGED
698 ;RS SHOULD STILL EQUAL THE CONTENTS OF °DSTAD'
T Moy 2(sP) (RO ;CHECK PSW AT TIME OF TRAP
BIC 177400,R0
g ?o .EXPPSW
ERROR 1 ttttttlttttttttTEST 2 = ERROR 10rsaasnnsnsntten
W_ERROR
.EXPECTED PSW IS STORED AT "EXPPSW’
sRESULTANT PSW IS l 0
18: glE!; gP) MT242 ;CHECK ADDRESS OF T
MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS
ERROR 11 ttttttttttttttttESt 2 = ERROR 11setsasnsnnannnnn
:TRAP ADDRESS ERROR
:EXPECTED ADDRESS IS '‘T2+42'°
sRESULTANT ADDRESS IS STORED AT ‘‘SBDADR'’
2s: MoV SP.RO :CHECK SP RESTORATION

SEQ 0019
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00201
0020
0020

g

002034
002042

SIS SRR EIENENES 32 33 3 A3 PRI E I

353
S8
pard
&~
=]

000
Sonds
R
F
o

$ERBEIIIFZ

0051ee

g

104012

01 ;71 6

000001
002314
000001

88231

004767
013767

1

12737
012737
004567

004767
000277
076050

1046001

w

~
~

000464

021201
104

002

06461

00670

308736

176652
176646

012654

00214
gEosis

012622

176472

176464

AN-82 08:50_ PAGE 21
T2 TEST "ADDN'* WITH A POSITIVE LEADING SIGN SOURCE1, & VALID SOURCE2

8

O
o
—h

2

3s: MOV

S1T2:

sere:

.BYTE
.EVEN

ENDT2: MOV
MOV

4 ,RO
RO.USAVIM
3%

12

#ENDT2, (SP)

SWEXPPSW,2(SP)

55
60

TEMP1 3410
TEMP2,a#12

sannnananansaaneTEST 2 = ERROR 12¢#tenanvanadnes
;STACK POINTER WAS NOT RESTORED -
;EXPECTED SP VALUE IS STORFD AT °'SAVR6
:ERRONEOUS SO VALUE IS AT R6'’

;RESTORE SP & PSW

sSOURCE1 STRING
;MOST SgGNIFlCMT DIGIT
:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

sRESTORE TIMEOUT VECTOR CONTENTS

tt.itl't't.itt.tttﬁititttiﬁtttttttiti*.tQt.ttttltt.tﬁ.'.."t..'

TEST *'ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, € VALID SOURCE2

cANRRAAAARRAAARAARAARAAARARAAARAAANARAANRAAAARAAAAAAAAAOAAACAACOES

tTESt 3
t413:  SCOPE
JSR

I;S.M’REP
§113
3273
JSR PC,CLBUF
MOV ari0, TEMPI
MOV ar12. TEMP2
MOV #T3CONT,a#10
MOV #340,a012
JSR RS, XPSW
WORD 217
JSR PC,GENR
SCC
T3: ADDN
ERROR 1
BR ENDT3
T3CONT:
cMP RO,SILN
BEQ sl.i
ERROR
648: (WP R1,S1ADR
BEQ 65$

sPREPARE ARGUMENTS FOR INSTRUCTION TEST
:SOURCET LENGTH

:SOURCE1 ADDRESS

SMCE; LENGTH

s SOURCE2 ADDRESS

;DESTINATION LENGTH

;CLEAR BUFFER AREA

;SAVE TIMEOUT TRAP VECTOR CONTENTS

sPOINT TIMEOUT VECTOR TO TEST CONTINUATION
:STORE EXPECTED PSW VALUE
sSET UP GENERAL REGISTERS

sEXECUTE *’ADDN’* INSTRUCTION

sannnnnentattt et TEST 3 = ERROR 1tvvnnnasavsvanes

:DECIMAL INSTRUCTION DID NOT TRAP ON
:A NEGATIVE LEADING SIGN SOURCE2

sCHECK RO UNCHANGED

-nnnnntnntﬁﬂ 3 = ERROR 2¢ttstsanattnnnt

Rg S D STII.I. EQUAL CONTENTS OF '‘ST1LN'
: CHECK UNCHANGED

SEQ 0020
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2 -JAN-SZ 05365 13

CVKAJB.P11 TEST *ADDN'‘ WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCEZ2 , SEQ 0021
985 002164 104003 ERROR 3 ;tnttntutnutht 3 « ERROR Jttsenenansantes
”9 :R1 CHANGED
98 R1 S D STILL EQUAL CONTENTS OF ‘‘STADR'’

988 005193 020267 176456 658: CMP R2,S2LN sCHECK R2 UNCHANGED

989 0021 1401 Q 66$

990 002174 004 ERROR 4 sennnkeenseenaneTEST 3 « ERROR 4rentnantntnttnn
991 :R2 CHANGED , :
99§ :RE S D STILL EQUAL THE CONTENTS OF '‘S2LN'
993 0021 72 020367 176450 66S$: CMP R3,S2ADR +CHECK UNCHANGED

994 00 001401 BEQ 7§

995 00 104005 ERROR ;;;nntnntnt‘l’fsr 3 =« ERROR Sttttsnntatavvtee
996 :R3 CHANGED

997 :R3 SHOULD STILL EQUAL THE CONTENTS OF °‘S2ADR'
998 00%203 020467 176446 67$: (¥, RG FILL sCHECK R& UNCHANGED

999 002212 001401 BEQ 68%

1000 0022146 104 ERROR & ;ttunnnnnttﬁsr 3 « ERROR Grtvtntantanttns
1001 ;R4 CHANGED

100§ :RG S D STILL EQUAL THE CONTENTS OF "FILL'
1003 002216 020567 176434 68$: CMP RS ,DSTAD s CHECK UNCHANGED

1006 002222 001401 BEQ 69%

1005 002224 104007 ERROR 7 sennnnnnnanaeansTEST 3 « ERROR 7ontttatttatttts
1006 sRS CHANGED

1007 ;RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'
1008 002226 698:

1009 002226 016600 2 MOV 2(SP) .RO sCHECK PSW AT TIME OF TRAP

1010 0462700 177400 BIC #177400,R0

1011 002236 020067 176436 CMP RO,EXPPSW

1012 002242 001401 BEQ 1$

1013 002244 154010 ERROR 10 sennnnnnnnanannaTEST 3 « ERRCR 10ttsesnsvavttnts
1014 :PSW ERROR .

1015 EXPECTED PSW IS STORED AT "EXPPSW'’

1016 SRESULTANT PSW IS IN RO ,

1017 22 021627 002142 18: CMP (SP) ,#T3+2 sCHECK ADDRESS OF TRAP

1018 002252 001403 BEQ 2%

1019 22 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS

1020 002260 104011 ERROR 1 sannnnnenantetattTEST 3 « ERROR 11vteennanavannns
1021 sTRAP ADDRESS ERROR

102§' EXPECTED ADDRESS IS °'‘T3+2'

10% :RESULTANT ADDRESS IS STORED AT °‘‘SBDADR'’

1026 002262 010600 2$: MOV SP,RO sCHECK SP RESTORATION

1025 002264 2709 000004 ADD #¢ R0

1029 2270 020037 000702 CMP RO,3#SAVR6

102 2274 1401 BEQ 3s

1028 002276 104012 ERROR 12 sannnnnnnnantts sTEST 3 « ERROR 12%¢ vannannnanene
10 :STACK POINTER WAS NOT RESTORED

10 sEXPECTED SP VALUE IS STORED AT :'SAVM"

1932 002300 012716 002316 3:  wv  meTS.(80)  ReSTOR bl S I8 AT NN

1o§ %gsoa §}§’“ 005700 000002 MOV FEXPPSW,2(SP)

}8;; 002312 2 RTI

10 oogu S173: :SOURCE1 STRING

103 14 053 .BYTE 53 sMOST SiGNIFICANT DIGIT

1038 %315 $213: :SOURCE2 STRING

}823 315 060 g;}ﬁ 60 JMOST SIGNIFICANT DIGIT
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% 16 016737
1008 905302 D183
1044
1048
00
1048
1049 002332 00000
1050 00 004567
1081 000001
102 002576
108
103 80 3
105 00235 §32929
1057 002 13767
1038 013767
1059 00 012737
1060 003400 012737
1061 003606 004567
1062 002412 000217
1065 003414 004767
106 002420 000277
1066 002622 076050
106
1068 002426 104001
1069
1070
1071 002426 000464
1072
1075 002430

1074 002430 7
1075 002434 001401
1076 002436 104002
10
1078
1079 002440 020167
1080 003444 001401
1081 002446 104003
1088
1084 002450 020267
1982 005436 04004
i
1088
1085 002460 020367
1090 003464 001401
1091 002466 104
1082
109
108 002 &7
1095 003476 001401
109 003476 104006

176370
176%64
012372

B

1
000340
012432
012340

176210
176202
176174
176166

176164
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. 229#“-32 05:4& 3 TEST "ADDN'* WITH A NEGATIVE LEADING SIGN SOURCE1, & VALID SOURCE2

10 ENDT3: MOV TEMP1 8N sRESTORE TIMEOUT VECTOR CONTENTS
12 MOV TEMP2 a1
INARRRAARAAARAARARAR R RC L ERNRRANRRNRRARARRARARRRARNTRRACRACRRAC R
s*TEST & TEST *'ADDN’' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1
*é;z?nt;zg;nnuttnnt“nnnnnnnannn-nnn‘"nntn
" JSR RS,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
1 sSOURCET LENGTH
S1Té sSOURCE1 ADDRESS
0 sSOURCE2 LENGTH
S2T4 :SOURCE2 ADDRESS
0 sDESTINATION LENGTH
JSR PC,CLBUF sCLEAR BUFFER AREA
1763 mov  a#i0,TEMPI :SAVE TIMEOUT TRAP VECTOR CONTENTS
1763 MOV aN12,TEmP2
00001 MOV (AL 6NT a0 :POINT TIMEOUT VECTOR TO TEST CONTINUATION
000012 mov  #340,a012
ISR gg,xﬁsu ;STORE EXPECTED PSW VALUE
ggg PC.GENR ;SET UP GENERAL REGISTERS
Té: ADDN :EXECUTE ‘'ADDN’' INSTRUCTION
ERROR 1 sennnnnannttattaTEST 4 = ERROR Irtnntsnnaneenee
sDECIMAL INSTRUCTION DID NOT TRAP ON
:A ZERO SOURCEZ2 LENGTH
BR ENDT4
T4CONT:
5’5'5 RO‘S1LN sCHECK RO UNCHANGED
ERROR 3" sennnnnannnnnsesTEST 4 = ERROR 2rntnnetnstnannne
:Rs CHANGED
;RO SHOULD STILL EQUAL CONTENTS OF °‘‘SILN'
648 : gg RkSMDR sCHECK R1 UNCHANGED
ERROR ;t;tttttttttttttTESf & = ERROR 3tsantsastattens
:R1 C D
:R1 D STILL EQUAL CONTENTS OF ‘‘STADR"*
658: g?; &SZLN sCHECK R2 UNCHANGED
ERROR 4 sannnanannsetttaTEST 4 = ERROR 4rannnnnntnnnene
:RS CHANGED \
:R D STILL EQUAL THE CONTENTS OF °‘S2LN'’
66$: S'E'G; R;‘SZADR s CHECK UNCHANGED
ERROR g sannnnnnnnettateTEST 4 = ERROR Stvtenenannwnveny
iR3 CHANGED , :
:R3 SHOULD STILL EQUAL THE CONTENTS OF ‘‘S2ADR'
67%: SIEI; zl“FlLL sCHECK R4 UNCHANGED
ERROR sennnnnnanannataJEST 4 = ERROR Grevsnsnnsananes

SEQ 0022
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MAIN. MACY11_30(1046) 22-JAN-82 08:50  PAGE % ..
CVKAJB.P11 22=-JAN-82 08:4 T4 TEST "ADDN'' WITH SOURCE2 LENGTH = 0, & VALID SOURCE1
1097 ;R4 CHANGED T
1833 JRG S D STILL EQUAL THE CONTENTS OF 'FILL
1 002500 0567 176152 68S%: CMP RS,DSTAD sCHECK R5 UNCHANGED
1100 002504 001401 BEQ 13
1101 002506 104007 ERROR sannnnnnnnnnsaasTEST & = ERROR 7esasnnastattntt
110; :RS CHANGED
110 :RS SHOULD STILL EQUAL THE CONTENTS OF ‘DSTAD'’
1106 002510 69$:
1105 002510 812900 MOV 2(SP) .RO :CHECK PSW AT TIME OF TRAP
1106 002514 1774 BIC #177400,R0
1107 002520 020067 176154 CMP RO,EXPPSW
1108 002524 001401 BEQ 1$
1109 002526 104010 ERROR 10 sannnnnnnnnennsxTEST 4 = ERROR 10¢asasnanattates
1110 :PSW_ERROR . .
1 :EXPECTED PSW IS STORED AT 'EXPPSW'’
111§ sRESULTANT PSW IS IN RO
1113 0025 021627 002424 1$: CMP (SP) ,#T4L+2 sCHECK ADDRESS OF TRAP
1116 0025 001403 BEQ 2%
1115 0025 011637 000522 MOV (SP) ,a#$BDADR  ;STORE BAD ADDRESS
1119 00254 104011 ERROR 1" sannnnnnnnnsnenssTEST 4 - ERROR 11eenasnanannanes
m :TRAP ADDRESS ERROR .
1118 :EXPECTED ADDRESS IS ‘‘T4+2
1119 :RESULTANT ADDRESS IS STORED AT °‘SBDADR’’
1120 2544 010600 2$: MOV SP.RO JCHECK SP RESTORATION
1121 002546 062700 000004 ADD #4 ,R0
112§ 002552 020037 000702 CMP RO,a#SAVR6
1123 002556 001401 BEQ 33
1124 560 104012 ERROR 12 sennnnnnnnnnsnneTEST 4 - ERROR 12¢rtasnansannens
1125 :STACK POINTER WAS NOT RESTORED ]
1129 sEXPECTED SP VALUE 1S STORED AT ::SAVR6 .
112 :ERRONEOUS SO VALUE IS AT "BADRé6
1128 002562 012716 002600 3s: MOV #ENDTG, (SP) :RESTORE SP & PSW
1129 002566 013766 000700 000002 MOV SNEXPPSW,2(SP)
ng(‘) 002574 RTI
113§ 002576 S174: ;SOURCET STRING
1133 002576 060 .BYTE 60 sMOST SéGNlFlCMI DIGIT
1136 002577 S2T4: :SOURCE2 STRING
1135 002577 060 BYTE 60 :MOST SIGNIFICANT DIGIT
”39 .EVEN
1138 002600 016737 176106 000010 ENDT4: MOV TEMP1,3#10 :RESTORE TIMEOUT VECTOR CONTENTS
”23 002606 016737 176102 00001 MOV TEMP2 ,a#12
1141
1145 JINARARRARARAARRRAARARAERERARAAAAAAAAAAAAARAAAAAEAACRCAACAERERAAS
114 :*TEST S TEST "'ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH
1144 AR ANARAARRA AR RN RN ANAANRAARRAAANRRAARRAARAAAAAARARRAARAS
1145 002614 832004 tS15:  SCOPE
1169 613 567 012110 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
114 1 1 sSOURCET LENGTH
1148 4 f S175 +SOURCE1 ADDRESS
1149 6 :SOIRCES LENGTH
1150 3 215 sSOURCEZ ADDRESS
115 6 :DESTINATION LENGTH
1152 002634 67 012164 JSR PC,CLBUF JCLEAR BUFFER AREA

SEQ 0023
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IN. MACY11 30(1046) 22-JAN-82 08:50 PAGE 25
P11 ZggJAN-gZ 0‘:6 15 TEST "ADDN'' BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH , SEQ 0024
153 002640 ng 012200 JSR RS  XPSW
154 88 644 ; LWORD 204
155 97 012106 JSR PC,GENR :SET UP GENERAL REGISTERS
15? 00265 7 SCC :SET UP THE COMPLEMENT OF EXPECTED CC*'S
157 0026 000244 CLZ
}gg 002656 076050 ADDN
160 2660 106767 176012 MFPS CCODES :STORc RESULTANT PSW
161 042767 179400 176004 BIC 0197400.“0053 sCLEAR UNUSED BITS
15 00 %5 85 767 000700 175776 CMP SNEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
1 00 1401 BEQ 643 JBR, IF EQUAL
166 002702 104001 ERROR 1 JunknnnaknnatetsTEST § = ERROR 1tntsnananantats
165 :PSW_ERROR : .,
166 sEXPECTED PSW IS STORED AT 'SAVR.Q
167 :ERRONEOUS SP VALUE IS AT 'BADR6
168 002704 648:
169 002704 005700 TST RO sCHECK RO=0
170 002706 001401 BEQ 658
171 002710 104002 ERROR 2 sennnnnnnannnassTEST § « ERROR 2tttrsanttaavtns
1;; ;RO SHOULD BE ZERO
1 002712 005701 658%: TST R1 sCHECK R1=0
176 002714 001401 BEQ 668
175 002716 104003 ERROR 3 JannnnnnnnennaasTEST § « ERROR Jttasansatattntn
176 sR1 SHOULD BE ZERO
177 002720 005702 66$: TST R2 :CHECK R2=0
178 002722 001401 BEQ 67%
179 002726 104004 ERROR 4 shknnneanananaasTEST S = ERROR 4rersntntntatnts
180 :R2 SHOlhlkD BE ZERO
181 002726 005703 678: TST R3 sCHECK R3=0
1 002730 001401 BEQ 68%
18 002732 104005 ERROR 5 sannnnnnnvaessasTEST 5 = ERROR Saaananaananetns
184 :R3 SHOULD BE ZERO
185 2 020467 175714 68%: CMP R4 ,DSTLN :CHECK R&= DESTINATION LENGTH
186 002740 001401 BEQ 69%
187 002742 104 ERROR 6 sunnnnnnnnnannnaTEST § « ERROR Grtrananananttte
188 R4 S D STILL BE DESTINATION LENGTH
189 002744 020567 175706 698: CMP RS,.DSTAD s CHECK = DESTINATION ADDRESS
190 002750 001401 BEQ 708
191 002752 104007 ERROR 7 sennnenanenesseeTEST 5 - ERROR TERRARRARARAARNNR
19§ :RS SHOULD STILL BE DESTINATION ADDRESS
193 002754 023706 000702 70%: CMP @#SAVR6, SP :VERIFY STACK POINTER IS RESTORED
194 002760 001403 BEQ 718 :BR IF 0K
195 002762 010637 000704 MOV SP,a#BADR6 :COPY BAD SP VALUE
19? 002766 104010 ERROR 10 snnknsnannnnnenaTEST § « ERROR 10*tassnenstnetes
19 sSTACK POINTER NOT RESTME!) BY INSTRUCTION
198 SEXPECTED SP IS STORED AT .'SAVR6"
199 ;ERRONEOUS SP VALUE IS AT °‘BADRéG'’
200 002770 71%:
201 882770 000401 B8R TSTé :BR TO NEXT TEST

g 772 S175: :SCURCET STRING

00 060 BYTE 60 :MOST SiGNIFICANT DIGIT
83 $2715: sSOURCEZ2 STRING

] 277 060 BYTE 60 JMOST SIGNIFICANT DIGIT
%8? .EVEN
208
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MAIN. MACY11_30(1046) Szzsm-az 08:5?5 PAGE 26

CVKAJB.P11 22=-JAN-82 0 TEST "“ADDN'* BY ADDING TWO ZEROES WITH ZERO DESTINATION LENGTH , SEQ 0025

15

1211 R L L L L L L Lt L i hhibededriiinbdebiuinaiiaiinbiniiniibi bbbyl

1%1; s*TEST 6 TEST ‘"ADDN'* WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SRC2 LENGTH, DL = NO

121 B I T e et e e g 2 1 1 1

1214 002774 000004 f§16:  SCOPE

1215 00%703 004567 011730 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

1216 00 Oogoglo 4 sSOURCE1 LENGTH

1217 003004 003176 S176 :SOURCE1 ADDRESS

1218 00 7l :SOURCE2 LENGTH

1219 00301 320 S$216 :SOURCE2 ADDRESS

1%50 00;81 2 :DESTINATION LENGTH

1221 00301 6 01%004 JSR PC,CLBUF :CLEAR BUFFER AREA

1225 0030 004567 012020 JSR RS ,XPSW

1223 003024 ooo;oo .WORD 200

1224 %g 004767 011726 JSR PC,GENR :SET UP GENERAL REGISTERS

1225 30 000277 SCC :SET UP THE CCMPLEMENT OF EXPECTED CC'S

} %%9 003034 076050 ADDN

1228 003033 106767 175634 : MFPS CCgDES :STORE RESULTANT PSW

1229 003042 042767 177400 175626 BIC #177400,CCODES :CLEAR UNUSED BITS

1230 003050 023767 000700 175620 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

1231 003056 001401 BEQ 648 :BR, IF EQUAL

1%3% 003060 104001 ERROR 1 sunvnnnnnnnanttaTEST 6 = ERROR Tornnntnnnntsanans

123 ;PSW ERROR

1234 SEXPECTED PSW IS STORED AT °''SAVRG''

1235 :ERRONEOUS SP VALUE IS AT 'BADRG"’

1236 003062 - 648:

1237 003062 005700 TST RO :CHECK RO=0

1238 003064 001401 Q 658

1239 003066 104002 ERROR 2 sennnnnnnnneeansTEST 6 = ERROR QARRARRARAANANES

1240 RO SHOULD BE ZERO

1241 003070 005701 65$: TST R1 sCHECK R1=0

1242 003072 001401 BEQ

124 003076 104003 ERROR sannnnnannasssesTEST 6 - ERROR Taannenatttnntne

1244 :R1 SHOUSD BE ZERO

1245 003076 005702 66$ TST R; :CHECK R2=0

12 003100 001401 BEQ 67%

124 003102 104004 ERROR ' sannnenantttttttTEST 6 = ERROR 4rvvtanntannntns

1248 :R2 SHO%EOBE ZERO

1249 003106 005703 678: TST R3 s CHECK

1250 0031 1601 BEQ

‘%zg‘l 00311 104005 ERROR ;;;unn;t;;t;;;ﬁﬂ 6 = ERROR Strasssnrnantnns
H 0

1 55 003112 020467 175536 68%: CMP R4, DSTLN JCHECK Ré&= DESTINATION LENGTH

1254 00311 1401 BEQ 69$ .

1255 31 106006 ERROR 6 sunnannnnatattatTEST 6 = ERROR Gretentnansnnsny

1 59 :Ré S D STILL BE DESTINATION LENGTH

125 3122 850567 175530 69%: CMP RS.DSTAD sCHECK = DESTINATION ADDRESS

1258 1 1401 BEQ 708

1259 0031 104007 ERROR 7 sevnnnannnsaneteTEST 6 = ERROR 7entetnnnnnvnnns

1 :RS SHOULD STILL BE DESTINATION ADDRESS

} 1 3}32 0 ¥‘ 000702 708: S'E'Q’ ?ﬁA\mb.SP :ESR};V &TACK POINTER IS RESTORED

1 23 00 123 1 000704 MOV SP, a#BADR6 :COPY BAD SP VALUE

1264 00314646 104010 ERROR 10 sananannanennatdTEST 6 = ERROR 10¢tatsnnvnnnnnne
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80 003172
281 1764 0004604
S35 003176 060
S8 003177 060
85 003200 062
86 1 061
87
88 7
1 04 071
29; 883205 071

-JAN-82 08: S()6 PAGE 27

};;:ﬁ 172‘02

718:

72%:

738:

S1T6:

$2T6:

N 2

TEST "'ADDN’* WITH POSITIVE OPERANDS,SRC1 LENGTH .GT. SRC2 LENGTH, DL = NO.

0 R2
(RO)+,(R1)+
738

s

TS17

sSTACK _POINTER NOT RESTMEP BY INSTRUCTION
;EXPECTED SP IS STORED AT ''SAVRG''
:ERRONEOUS SP VALUE IS AT *BADRG"’

sCHECK ANSWER

sPOINT RO TO EXPECTED ANSWER
:POINT R1 TO RESULTANT ANSWER
sSTORE ANSWER LENGTH IN R1
'C”I?E EACH DIGIT

kAR AR At TEST 6 = ERROR 11tvanananasataen

s ERRONEOUS ANSWE

;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
sDECREMENT ANSWER LENGTH

:BR IF NOT FINISHED

:BR TO NEXT TEST

sSOURCE1 STRI

:MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
;MOST SIGNIFICANT DIGIT

sEXPECTED ANSWER

SARRRRARRRRAAAAAANAAARAEAAAAEAAARAFAAARARAAACAAACAARANAORARAAAANSY

-rssr 7

tér7:

SCOPE
JSR

ﬂ(gko Qa
CA%ELE
k=

2923 &

TEST *'ADDN’* WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW

SRARAARARARNRARAAARAARAANARANAARARAAAARANRAANAREAARAAAAAAAAACNAARY

RS .NPREP
2
S177
4
21’7

.CLBUF
a " XPSW
210

PC.GENR

i comss
{3

'PREP MMNTS FOR INSTRUCTION TEST

;SET UP GENERAL REGISTERS
SET UP THE COMPLEMENT OF EXPECTED CC'S

TMS RESULTANT PSW

Eg %’S‘Aﬂgﬂs; EXPECTED VALUE

-nnnnnnnnlfﬂ 7 = ERROR 1ttenssnsstennne

:PSW ERROR

SEQ 0025
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CVKAJB.P11 TEST *'ADDN’’ WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW SEQ 0027
1 ;EXPECTED PSW IS STORED AT ‘‘SAVR6'
i ;ERRONEOUS SP VALUE IS AT 'BADR6'
003276 64$:
g 7 5700 TST Rg ;CHECK RO=0
1401 BEQ $
9 104002 ERROR sennnnnnnnnnattttTEST 7 « ERROR 2t#ttvaevnvdavas

:RO_SHOULD BE ZERO
R1=0

1
1
1
1
1
|
1 003 005701 658%: TST R1 ;CHECK R
1 001401 BEQ
1 1 104003 ERROR unnntntnﬂfsr 7 = ERROR Jtanensnantneenst
} ! 1 5702 66$ TST R CHESHOU? oo
1 %g& 881681 BEQ 6;8
1 gl, 003316 104004 ERROR 4 unnnnntu‘rest 7 = ERROR 4rtrtnasttatttns
1335 SH%D BE ZERO
1;3? 00 00 67%: TST R3
1 003322 001401 BEQ 8%
13 00 6 1 5 ERROR sennnnnannnenassTEST 7 = ERROR Stansnantnantnns
1339 RS SHOULD BE ZERO
1 t
1340 003%;3 880467 175322 68$ CMP R4 ,DSTLN CHECK Ré= DESTINATION LENGTH
1341 003 1401 BEQ 69%
132; 0033 1 ERROR & sannnnnnneneeeetTEST 7 = ERROR fttentntntttttts
1 R6 S D STILL BE DESTINATION LENGTH
gzk 003336 020567 1753214 69$: CMP RS ,.DSTAD CHEC = DESTINATION AJDRESS
S 003342 001491 BEQ 708
003344 104007 ERROR 7 sennnncannaantssTEST 7 = ERROR TRERARARARAAANES
RS SHOULD STILL BE DESTINATION ADDRESS
003346 0237 000702 708: CMP a#SAVRG, SP VERIF Y STACK POINTER IS RESTORED
349 003352 0014 BEQ 718 BR IF 0K
S0 003354 0106 000704 MOV SP,a#BADRéG :COPY BAD SP VALUE
S1 003 104010 EREQOR 10 nnnnntnntﬁﬂ 7 = ERROR 10¢tatsanstttttes
ssg STACK POINTER NOT RESI’ME? B8Y INSTRUCTIN
35 EXPECTED SP IS STORED AT '‘SAVRG'’
354 ERRGEOUS SP VALUE IS AT °'BADRG'’
355 003362 718:
353 sCHECK ANSWER
gs 003362 012700 003420 MOV #ANS7 ,RO :POINT RO TO EXPECTED ANSWER
S8 003368 816701 175264 MOV DSTAD, ‘R .POIN'I’ R1 TO RESULTANT ANSWER
359 00337 1670; 175256 MOV DSTLN,.R2 STORE ANSWER LENGTH IN R1
8833(7’8 12202 72$: CMPB (RO)*.(RU# CWARE EACH DIGIT
34 1401 BEQ 73% .BR IF EQUAL
003402 104011 ERROR 1 sannnnannnanannsTEST 7 = ERROR 11ttxnassssavntns

RRUEWS ANSWER
CONTAINS THE PC+1 OF THE EXPECTED DIGIT
CONTAINS THE PC+1 OF THE RESULTANT DIGIT

SEESEREREE

—d o and e e e cnd b b b b b o and aud aud b = b cod cnd wud w=b wd cd cd wd b wd b

003404 oossgg 738:  DEC as .-oscnenem ANSWER LENGTH
0034 13 BNE 72 *BR IF NOT FINISHED
33341 05 B8R TST10 :BR TO NEXT TEST
341 S1T7: $SOURCE1 STRING
70 00341 063 .BYTE 63 *MOST SIGNIFICANT DIGIT
1 00341 165 .BYTE 165
g 1% $217: soun CE2 STRING
14 .BYTE 60 MOST SIGNIFICANT DIGIT
73 }s : 'g”E 61
378 003417 168 BITE 165
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" . MACY11 30(1046) 22-JAN-82 08:50_ PAGE 29
CVKAJB.P11 ZggJAN-SZ 03:6 17 TEST “ADDN'' WITH NEGATIVE OPERANDS, S2L .GT. S1L, NO OVERFLOW SEQ 0028

1377 ANS7: JEXPECTED ANSWER

1 ;s 1 .BYTE 61 MST SIGNIFICANT DIGIT

1 1 .BYTE

1 .BYTE

} 1 00 BYTE 160

1 g .EVEN

1388

1339 L L Ll ddivhiiiniuiabrinbdiebirbbiniiebiribtubidiiudiu it

‘lgga tTEST 10 TEST "'ADDN'' WITH NEGATIVE OPERANDS, OVERFLOW

1 T e s e e A L e R e g 2

1389 003424 8322“ $§710: SCOPE

1390 67 011300 JSR RS _NPREP JPREPAR MMNTS FOR INSTRUCTION TEST

1391 00 b SOU!CE LENGTH

1395 00 3 31710 SS0NE) fpears

1394 ﬁ&g 83322‘ $2T110 :SOURCEZ2 ADDRESS

1395 344 00090; 2 sDESTINATION LENGTH

1396 3444 882 67 011354 JSR PC,CLBUF CLEAR BUFFER AREA

1397 3450 567 011370 JSR RS  XPSW

1398 003456 00021 LWORD 212

1399 003,223 004767 011276 JSR PC,.GENR ;SET UP GENERAL REGISTERS

1400 00 000225 +SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S

1401 003464 000252 +CLN!CLV

}285 003466 076050 ADDN

1404 003470 106767 175202 MFPS CCODES :STORE RESULTANT PSU

1405 003474 042767 177 ’000 175174 8IC #177400,CCODES CLEAR UNUSED BITS

1409 00350 88 767 000700 175166 CMP aNEXPPSW,CCODES CHECK PSW AGAINST EXPECTED VALUE

1407 00351 1401 B8EQ 648 F E

}lzgs 003512 10400 ERROR 1 ;;n;n;tunﬂssr 10 = ERROR 1ttsttanannttnns

1410 EXPECTED PSW IS STORED AT *'SAVRG'*

1611 ERRONEOUS SP VALUE IS AT "BADR6"

1415 003514 64$:

1413 003514 005700 TST R :CHECK RO=0

1414 516 001401 BEQ $

1415 520 104002 ER]RROR senannnnnnnnennsTEST 10 = ERROR 2% tttnttatattane

1416 RO SHOULD BE ZERO

1417 003522 5701 65$%: TST R1 sCHECK R1=0

1418 003524 1401 BEQ

1419 0035 3 ERROR tnnnnnnnrsﬂ 10 = ERROR 3Jtttassnnnnnntne

14 :R1 S D BE ZERO

14621 88 S 5702 66%: TST R; CHEC =0

14 i S 1401 BEQ 67%

‘!'2 2 0035 106004 ERROR ' tsnunn;;t;ﬂiﬂ’ 10 = ERROR 4tttsastntttttnn

:R D

1425 gS 5703 67%: TST R3 : CHECK 0

14 54 1401 BEQ 8$

‘%l‘. 4 354 104005 ERROR nnnnunnﬂesr 10 = ERROR Staraassasstsnns
HOU& ERO

14 3544 7 175104 68S$: CMP R4 ,DSTLN CHEC z DESTIMTIW LENGTH

14 3550 001401 BEQ 69%

1431 3552 006 ERROR 6 sannnnnnnnanasetTEST 10 = ERROR Greevvannntennne

14 Rlo SHOULD STILL BE DESTINATION LENGTH
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LJMAIN. MACY11 _30(104 2-JAN-82 08: SO PAGE 30
CVKA.B.P11 30 M—gl 0‘ s T10 TEST "'ADDN'' WITH NEGATIVE OPERANDS, OVERFLOW SEQ 0029
}2 3 567 175076 698: SEHG’ ;(S"DSYAD :CHECK RS = DESTINATION ADDRESS
1435 ERROR 7 senkkrennvannnesTEST 10 = ERROR 7ttttasanattdnts
14 RS SHOULD STILL BE DESTINATION ADDRESS
14 % 08 000702 708: CMP a#SAVR6, SP VERIFY STACK POINTER IS RESTORED
1% g BEQ 718 BR IF 0K
1439 01 000704 MOV .8#BADRS COPY BAD SP VALUE
1440 104010 ERROR 0 nnnntnnn‘resr 10 = ERROR 10ttasnattastttts
1641 STACK POINTER NOT RESTMEP 8y INSTRUCI‘IM
164; .EXPECTED SP IS STORED AT VR6"
1644 :ERRONEOUS SP VALUE IS AT 'BADR6
14644 003600 718:
1445 sCHECK ANSWER
1 003600 012700 003636 MOV #ANS10,RO .POIN! RO TO EXPECTED ANSWER
144 ggol. 016701 175046 MOV osm R *POINT R1 TO RESULTANT ANSWER
1448 003610 016702 175040 MOV R2 STORE ANSWER LENGTH IN R1
1449 003614 122021 72%: CMPB (ROH.(M)* .CWARE EACH DIGIT
1450 003616 001401 BEQ 738 :BR IF EQUAL
1451 00 104011 ERROR 1 JennnnnnnasannnasTEST 10 = ERROR 11tteenananatatts
145; ERRWEOUS ANSWER
145 RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1454 R‘l CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1455 003622 00530 738: DEC R% DECREENT ANSWER LENGTH
1456 0036246 00137 BNE 72% BR IF NOT FINISHED
1457 003626 000404 BR ST BR T0 'EXT TEST
1458 00 S17T10: *SOURCE1 S
1459 003630 060 .BYTE 60 MST SIGNIF!CANT DIGIT
i ey & e
1A6§ 00363 ?gg .BYTE 163
1463 003634 $2T10: :SOURCE2 STRI
1464 003634 065 BYTE 65 HOST SIGNIFICMT DIGIT
1465 003635 164 .BYTE 164
146? 003636 ANS10: :EXPECTED ANSWER
1467 003636 067 .BYTE 67 MST SIGNIFICANT DIGIT
1468 003637 167 BYTE 167
1469
1470 .EVEN
172
1475 L T L T L L i ik bbb inbirintabindninbivindtainbd-bubiihubadinid
1474 tTEST 1" TEST "ADDN'' WITH POSITIVE OPERANDS, S2L=S1L.OVERFLOW
1475 I It e e e A A e 1 2 4
14.;; ggw.g 882004 t6711:  ScOPE
14 364 567 011064 JSR RS .NPREP ;PREPAR MMNTS FOR INSTRUCTION TEST
1478 00 2 SOlRCE LENGTH
1479 365 044 S1ITNn SMCE ADDRESS
1480 ggs 2 2 SMCE LENGTH
1481 046 seti SMCE ADDRESS
168; ; 2 DESTIMTIM LENGTH
1 6 11140 JSR PC,CLBUF .CLEAR BUFFER AREA
} . 567 011154 JS?JRD SOGXPSU
148? 7 011062 JSR PC,.GENR :SET UP GENERAL REGISTERS
148 7 s 1 +S™MISEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1488 3 46 +  .CLV
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LMAIN. MACY! ( 2=-JAN-82 08: 50 PAGE 3"
CVKAJB.P11 230 me-‘ﬁz 0‘ * TEST ''ADDN'* WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW SEQ 0030
;289 003702 076050 ADDN
14 7?‘ 727 1747 MFPS % 80 :STORE RESULTANT PSW
149, 0 767 1774 176728 BIC #1776400,CCODES :CLEAR UNUSED BITS
149 787 CMP MEXPPSH CCODES :CHECK PSW AGAINST EXPECTED VALUE
1494 88 7% 14 BEQ sBR, IF EQUAL
}295 726 104001 ERADR t;l *E;;g“""TEST 11 = ERROR 1rtassttatntttte
149 EXPECTED PSW IS STORED M ''SAVRG'*
}233 00 648 RRONEOUS SP VALUE IS AT 'BADRS™
1500 88 S700 TST Rg :CHECK RO=0
1501 1401 BEQ $
150§ 00 104002 ERROR sennnenannesnaasTEST 11 - ERROR pi222 1122222222 1)
150 RO SHOULD BE ZERC
1504 5701 65%: TST R1 :CHECK R1=0
1505 003740 1401 BEQ
1509 003742 104003 ERROR nuntttnnnrssr 11 = ERROR 3Jttstasnnantnttnt
150 R1 S D BE ZERO
1508 003744 005702 66$: TST R; +CHECK R2=0
1509 0035746 1401 8EQ 67%
1510 003750 1 ERROR 'A sennnnansnacanssTEST 11 - ERROR AT T332 1]
151 RZ S D BE ZERO
151; 003752 005703 678: TST R3 :CHECK R3=0
1512 003754 001401 BEQ $
1514 003756 104005 ERROR JannnnknnaneeanaTEST 11 = ERROR Sratnasaanannntn
1515 R3 SHOULD BE ZERO
1516 003760 020467 174670 68S$: cHp R4 . DSTLN CHECK Ré= DESTINATION LENGTH
1517 003764 001401 BEQ 69$
1518 003766 104006 ERROR 6 tnnntnnnttgst 11 = ERROR 6*tetnvanvtnttts
1519 Rlo SHOULD STILL BE DESTINATION LENGTH
1520 003770 020587 174662 69%: CMP RS,.DSTAD CHECK RS = DESTINATION ADDRESS
1521 003774 001401 BEQ 708
152; 003776 7 ERNOR 7 untnntnnttEST 11 = ERROR 7rtaantnnanttnes
15 RS SHOULD STILL BE DESTINATION ADDRESS
1526 %000 023 000702 708: CMP a#SAVR6, SP .VER!FY STACK POINTER IS RESTORED
1525 004 00140 BEQ 718 :BR IF OK
15 010637 000704 MOV SP,a#BADRS :COPY BAD SP VALUE
1527 004012 104010 ERROR 10 nnnunnttttsﬂ 11 = ERROR 10t%ssasssssattnns
1528 STACK POINTER NOTY RESTMEP 8Y INS!RUC"G‘
15 EXPECTED SP IS STORED AT '‘SAVR6''
15 ERROEOUS SP VALUE IS AT 'BADRG'’
1531 004014 718:
1S§ sCHECK ANSWER
15 88:016 012700 00405 MOV #ANS11,RO POINI’ RO TO EXPECTED ANSWER
1534 0 816701 17463 MOV osm k1 :POINT R1 TO RESULTANT ANSWER
1535 004026 01 70% 174624 MOV R? STME ANSWER LENGTH IN R1
153? %20 1220 728%: CMPB (RO)*.(RIH CWARE EACH DIGIT
153 0 001401 BEQ 738 .BR IF EQUAL
}gig 004034 104011 ERROR 1 "“"“*""*‘;;;EST 11 = ERROR 11tasessnsnnnenes
1540 ? CONTAINS THE PC+1 OF THE EXPECTED DIGITY
1541 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
154; 004036 S 738: DEC Rs DECRERNT MSUER LENGTH
1543 00404 13 BNE 72% BR IF NOT FINISHED
1544 00404 0 TST12 :BR TO NEXT TEST
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IN. MACY11_30(1046) 22-JAN-82 08:50 PAGE 32
ZggJAN-gZ Oi:lo m

VKAJB.P11 TEST "'ADDN'' WITH POSITIVE OPERANDS, S2L=S1L,OVERFLOW SEQ 0031
1545 S1T11: ;SOURCET1 STRING

1 83 BYTE g sMOST SIGNIFICANT DIGIT

1 04 BYTE ;

1 046 $2T11: :SOURCE2 STRING

1 06? 0% .BYTE 96 :MOST SIGNIFICANT DIGIT

1550 04 0 .BYTE 0

1551 050 ANS11: ;EXPECTED ANSWER

125 050 060 . .BYTE 60

155 051 060 BYTE 60

1554

1555 .EVEN

1337

1558 IRRRARRRARERAAARAARENEECRARRRNRANAANARARAAAAARAAAAARAACRACRACRAS

1559 :«TEST 12 TEST ADDN WITH NEGATIVE OPERANDS, S2L=S1L,OVERFLOW CARRY

1560 AR AR RAATEE RN RCRRARRARARAREANANANRRNRNCARAACANS

1561 004052 fST12: ScoPE

15525 0546 004567 010652 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

1 OOOgOZ g sSOURCET1 LENGTH

1564 004 00425 S1T12 :SOURCE1 ADDRESS

1565 004064 00000 2 :SOURCEZ2 LENGTH

1566 wo% 0042 S2eT12 JSOURCE2 ADDRESS

1567 0 000901 1 :DESTINATION LENGTH

1568 004072 004767 010726 JSR PC,CLBUF JCLEAR BUFFER AREA

1569 004076 004567 010742 JSR RS XPSW

1570 004102 832;1; LWORD 212

1571 006104 67 010650 JSR PC,GENR :SET UP GENERAL REGISTERS .

15% 006110 000265 +SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
15 004112 00025 , +CLN!CLY

g;g 206116 07605 ADDN

15;9 004116 106767 174554 MFPS CCODES :STORE RESULTANT PSW

15 004155 042767 1776400 174546 BIC #177400,CCODES ;CLEAR UNUSED BITS

1578 0041 88 767 7 174540 CMP SWNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

1579 004136 1401 BEQ 648 JBR, IF EQUAL

1580 004140 104001 ERROR 1 cunnnkenstatsaaTEST 12 = ERROR Tennnnnnnatnnens
1581 :PSW ERROR

125 JEXPECTED PSW IS STORED AT."SAVRQ"

1 ;ERRONEOUS SP VALUE IS AT 'BADR6

1584 004143 64S$:

1585 004142 005700 TST ng :CHECK RO=0

1 004144 001401 BEQ $

158 0046146 104002 ERROR sanennnenanennanJEST 12 = ERROR 2ttttasnatatttts
1588 :RO D BE ZERO

1589 004150 5701 65$: TST R1 :CHECK R1=0

1590 004152 1401 BEQ

1591 0046154 104003 ERROR sannnananneanssasTEST 12 = ERROR Jrtnnnnannnanean
159 :R1 S D BE ZERO

1593 004156 570 66$: TST R; sCHECK R2=0

1594 1 140 BEQ 67%

1595 1 104004 ERROR & sannnnnnnnaetttaTEST 12 = ERROR 4erenntnannvanane
1599 :R2 SNO%D BE ZERO

159 8&16‘ 5703 67%: TST R3 sCHECK R3=0

1598 1 1401 BEQ 8%

1599 00461 104005 ERROR sennnnnnenannenaJEST 12 = ERROR Stetsanssanttens
1600 :R3 SHOULD BE ZERO
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LMAIN. MACY11 2=JAN=-82 08: 50 PAGE 33
CVKAJB.P1 Zgo.lm-gl 0‘ TEST ADDN WITH NEGATIVE OPERANDS, S2L=S1L,OVERFLOW CARRY SEQ 0032
1601 1 87 174456 68$: CMP R4 ,DSTLN :CHECK Ré4= DESTINATION LENGTH
1 17 1401 BEQ 69$
1& 104006 ERROR [ untnnnnnrfﬂ’ 12 = ERROR frettesnttatttts
1 M S D STILL BE DESTINATION LENGTH
}605 %: 0 128{ 174450 698: C#d lrlg‘DSTAD ClEC = DESTINATION ADDRESS
128? 00421 ERROR 7 '"“"“*"""TEST 12 = ERROR 7ttetetnttntttes
1608 :RS SHOULD STILL BE DESTINATION ADDRESS
1609 004212 883 000702 70$: CMP @#SAVRG, SP VERIF Y STACK POINTER IS RESTORED
1610 00421 &g BEQ 7S - :BR IF OK
1611 004 01 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
161§ 006226 104010 ERROR 10 ntntnnntn‘rfst 12 = ERROR 10%teansatnatttes
161 STACK POINTER NOT RESTME? 8Y INS!RUCTIUI
1614 °EXPECI’ED SP IS STORED AT VRG..
1615 :ERRONEOUS SP VALUE IS AT 'BADR6
161? 004226 718:
161 :CHECK ANSWER
1618 004 is 12700 09626% MOV #ANS12,.RO POINT RO TO EXPECTED ANSWER
1619 004 16701 17442 MOV DSTAD R POINT R1 TO RESULTANT ANSWER
1620 004 Sg 16702 174412 MOV R2 STME ANSWER LENGTH IN R1
1621 006242 122021 72%: CMPB (RO)*.(R‘I)* CWME EACH DIGIT
1622 004244 001401 BEQ 738 .BR IF EQUAL
162 0042646 104011 ERROR 1 tnnnunnnTESI 12 = ERROR 11tssnsesannsnnee
1624 :ERRONEOUS ANSWER
12%2 no CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1627 004 530 738: DEC DECREKNT ANSWER LENGTH
1628 004252 00137 BNE 72% *BR IF NOT FINISHED
12;3 004254 000403 8R TST13 BR TO NEXT TEST
1 004256 siT12: :SOURCE1 STRING
1631 004 S? 066 .BYTE 66 !IJST SIGNIFICANT DIGIT
1 00425 161 BYTE 161
1633 004 s2eT12: :SOURCE2 STRING
1634 004260 064 BYTE 64 .MSV SIGNIFICANT DIGIT
1635 004261 165 BYTE 165
163? 00622% ANS12: JEXPECTED ANSWER
323 0042 166 BYTE 166
16333 004264 .EVEN
168
1“; JERRARARARARRARRARARAARERRCRRRRAARAANARAAAANRAANAAAEAACARRNCTAONS
T tTEST 13 TEST "'ADDN'' WITH +SRC1 £ -SRC2, ZERO RESULT
1644 I et et e a1 1 2 2 1 g
1645 gg:za. 33223" $§713:  SCOPE
16‘9 % 7 010440 JSR RS ._NPREP ;PREPAR MGI!ENTS FOR INSTRUCTION TEST
1647 004 000001 1 :SOURCET LENG
1648 74 “g §1713 +SOURCE1 ADDRESS
1649 7 :SMCES LENGTH
1650 443 32713 s SOURCE ESS
1651 JDESTINATION LENGTH
165; 6 10514 JSR PC,CLBUF JCLEAR BUFFER AREA
165 10 7 010530 JSR RS XPSW
1654 14 LWORD 204
1655 ;}s 7 010436 JSR PC,GENR :SET UP GENERAL REGISTERS
1656 2 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S




H 3
MAIN. M“"Z?-’jw oiZz*M-.Z OB:S?HPAGE 34

CVKAJB.P11 TEST "ADDN'* WITH +SRC1 & =SRC2, ZERO RESULT SEQ 0033
1657 004 CLZ
g S o SShe
166? 2 17634 MFPS %iao sSTORE RESULTANT PSW
166 767 1774 176334 B8IC 'l ,CCODES ;CLEAR UNUSED BITS
}gi §§ 0007 176326 glelc' N;XPPSU .CCODES CHECK PSW AGAINST EXPECTED VALUE
1“; 004 ERROR :-n:nnntnnﬂfsr 13 = ERROR 1rttansetatnttes
166 PSW_ERROR -
1669 :EXPECTED PSW IS STORED AT *'SAVR
}66 004354 648: sERRONEOUS SP VALUE IS AT °BADRG
16‘23 ool.isa 5700 I £ RO ;CHECK RO=0
1670 % 323 1401 B8EQ SSS
1671 104002 ERROR sannnnntantetttaTEST 13 = ERROR 2etttrtntnaactenst
16;; RO SHOULD BE ZERO
16 004 005701 65$8: TST R1 :CHECK R1=0
1674 88: 001407 BEQ
}2;2 104003 ERROR utnttntnnt‘resr 13 = ERROR 3ttttanananttnns
1677 ooﬁgro 005702 668: TST R;‘ CHE KR =0
1678 004372 001401 BEQ 6
1679 004376 104004 ERROR nnnntnnntisr 13 = ERROR 4tetsnsssannnens
1680 'RZ S%O“
1681 004376 005703 67%: TST R3
128 004400 001401 BEQ gss
1 0046402 104005 ERROR ;ttttttttttt!tttTEST 13 = ERROR Stattasasttetntnn
1684 sR3 SHOULD BE ZERO
1685 004404 0O 7 174244 68$: CMP R4 ,DSTLN :CHECK Ré= DESTINATION LENGTH
1686 004410 001401 BEQ 69%
1687 006412 104 ERROR 6 sennnnnsnanantttTEST 13 = ERROR Grrrnennnnnnnnne
1688 Rlo D STILL BE DESTIMTIGJ LENGTH
1689 004414 020567 174236 69%: CMP RS,.DSTAD 'CHECK = DESTINATION ADDRESS
1690 004420 001401 BEQ 708
1691 004422 104007 ERRNR 7 sannnnnnnnnantasTEST 13 = ERROR 7ttasantttatttte
1692 :RS SHOULD STILL BE DESTINATION ADDRESS
1693 004424 853 000702 708: CNP a#SAVRG,SP :VERIFY STACK POINTER IS RESTORED
1696 0044 &ng BEQ 718 BR IF 0K
1695 0044 01 000704 MOV SP,a#BADR6 ;COPY BAD SP VALUE
1699 0044 104010 ERROR 10 nnnnntnntfsr 13 = ERROR 10ttasnnssasannne
169 STACK POINTER NOT RES!MEP 8Y INSTRUCTION
1698 3 E XPECTED SP 1S STORED AT °‘SAVR6'’
1% ;ERRONEOUS SP VALUE IS AT ‘BADRG'*
1 004440 718:
1701 004440 000401 BR TST14 JBR T0 OEXY TEST
mg 00444 S1T13: SMCEl STRING
1703 00444 063 .BYTE 63 nosr ssﬁﬂlFICMT DIGIT
1706 00444 $2T13: sSOURCE2 STRING
‘{705 004644 163 BYTE 163 MST SIGNIFICANT DIGIT
1;89 .EVEN
1709
1710 tntnuutttnununnunnntnnntnnnnnnntnntn
11 tTEST 14 TEST *'ADDN'* WITH =SRC1 & +SRC2, S1L .LT. S2L, /S2/ .GT. /SV/
1712 IARRAARARARARAREAARRER AT RRRERARAANERAARANAARARRNARRTARCNRRCNRNES




13
-MAIN, HAC"‘IZ;QSW O‘Z“MZ 08:5?“”6! 35

CVKAJB.PI TEST “ADDN’* WITH =SRC1 & +SRC2, SIL .LT. S2L, /s2/ .GT. /81/ SEQ 0034

1713 TST14: SCOPE

114 %567 010260 JSR ~  RS,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

114 a | sSOURCET LENGTH

171’ S1T14 sSOURCET ADDRESS

m 4 sSOURCEZ LENGTH

1718 52!16 sSOURCEZ ADDRESS

1n SDESTINATION LENGTH

1 10;?4 JSR PC.,CLBUF sCLEAR BUFFER AREA

17 10350 JSR RS XPSW

1 g 004474 LWORD 210

1 004647 010256 JSR PC,GENR :SET UP GENERAL REGISTERS

1726 004 ScC :SET UP THE COMPLEMENT OF EXPECTED CC'S

1725 004 CLN

};g? 004 ADDN

1728 004510 106767 17416 MFPS CCODES ;STORE RESULTANT PSW

1 . 006516 0462767 177400 174154 BIC #177600,CCODES ;CLEAR UNUSED BITS

1 0045 8‘2) 767 000700 174146 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

1731 0045 1401 BEQ 5 :BR, IF EQUAL

} 0045 104001 E "ROR :;;"E""t"“tTESY 16 = ERROR 1ttstanantatnatts
:PSW ERROR

1 :EXPECTED PSW IS STORED AT '‘SAVR6'’

1735 :ERRONEOUS SP VALUE IS AT "BADRG'’

H 004534 64$:

173 ool.s.;.g 0057 TST RO :CHECK RO=0

1738 0045 001401 BEQ 5%

1739 00464540 104002 ERROR senannnnnanensasTEST 14 - ERROR EARRRARRRANNANS

1740 RO SHOULD BE ZERO

17641 004542 005701 65%: TST R1 :CHECK R1=0

1742 004544 001401 BEQ

174 0046546 104003 EREOR sentnennnnnnnnesTEST 14 = ERROR Jttnanvnantatdnse

1744 sR1 SHOULD BE ZERO

1745 004550 005702 66$: TST R; sCHECK R2=0

1769 004552 001401 8EQ 67%

1747 004554 ERROR & sanannnananttasaTEST 14 = ERROR 4rnrannnaneneney

1748 :R2 S%D BE ZERO

1749 004556 005703 67%: TST R3 sCHECK R3=0

1750 004560 001401 BEQ

1751 004562 104005 ERKOR sennnnnnannnnnnsaTEST 14 - ERROR Saananannanavtene

175; :R3 SHOULD BE ZERO

175 0065? 850667 174064 68$: CHP R4, DSTLN sCHECK Ré4= DESTINATION LENGTH

1754 0045 1401 BEQ 69%

1755 0045 1046006 ERROR 6 sennannannasttesTEST 14 = ERROR Grevvntnnsnnnnns

1759 :Ré D STILL BE DESTINATION LENGTH

};ga 574 "o 174056 698: glEl; l;g‘DSTAD sCHECK = DESTINATION ADDRESS

.

1759 1 ERROR 7 sanneeannsansansTEST 14 -~ ERROR Teasantenasttnte

1760 :RS SHOULD STILL BE DESTINATION ADDRESS

};61 ﬁ?ﬁt §5¥4 000702 708: glelo' ;ﬁAVRb.SP :gsn};v ‘*STACK POINTER 1S RESTORED

178 Ig 1 000704 MoV SP,a#BADRG :COPY BAD SP VALUE

1764 004616 104010 ERROR 10 sunnnnanananssasTEST 14 = ERROR 10netvnnsnannnnee

1765 :STACK POINTER NOT RESTORED BY aNSTRUtTlm

1 o WL AT SR

1768 004620 718:




J 3
JUIN, MACY11_30(1046) 22-JAN-82 08:50 PAGE 36
CVKAJ!.PHC 22=-JAN-82 03:4 T4 TEST "ADDN'* WITH =SRC1 & +SRC2, SIL .LT. S2L, /s2/ .GT. /§1/ SEQ 0035
4

1#8 :CHECK ANSWER

1 1 ?9‘857 MOV  #ANS14,RO sPOINT n? TO EXPECTED ANSWER

mn 1 4 53 MOV DSTAD,R1 :POINT R1 TO RESULTANT ANSWER

177;§ 167 g 1740 MoV DSTLN,.R2 ;STORE ANSWER LENGTH IN R1

1 728: CMPB (RO)+,(R1)+ ;COMPARE EACH DIGIT

1774 1601 BEQ 738 :BR IF EQUAL

1775 104011 ERRUR 1 sennnnnannennsesTEST 14 - ERROR 11erasanasannenee
177# sERRONEOUS ANSWER

1 :RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1;;8 :R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
1 2 005%05 738: DEC RS sDECREMENT ANSWER LENGTH

1780 88&7 BNE 72% :BR IF NOT FINISHED

1781 05 BR TST15 JBR TO NEXT TEST

I;g S S1T14: sSOURCE1 STRING

1 004650 067 BYTE 67 2MOST SIGNIFICANT DIGIT

1784 004651 066 BYTE

1785 00465 064 BYTE 64

178$ ms S2T14: :SOURCE2 STRING

178 S 060 .BYTE ?0 :MOST SIGNIFICANT DIGIT

1788 88225& 070 BYTE 69

1789 S5 093 BYTE

1790 882259 1”7 BYTE 17N

1™ S ANS14: sEXPECTED ANSWER

1795 004657 067 BYTE 67 :MOST SIGNIFICANT DIGIT

}773‘ 004660 165 BYTE 165

1795 004662 .EVEN

18

1798 JINARARRRRAARARARAARRANTCERRERRARARANAAAAR AR ATAEARCARARNRENE

1799 s*TEST 15 TEST *'ADDN’’ WITH +SRC1 & -SRC2, SI1L .GT. S2L, /S2 .GT. /S1/, OVERFLOW
1800 SiRRAAARAARARARAARAAARANAAAARAAAAAAAAAAANAAAAAAAACERACAAACACAANNS

1801 004662 fST15: SCOPE

wog S67 010042 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST

1803 0046 . :SOURCE1 LENGTH

1804 0046 00 S1T15 sSOURCE1 ADDRESS

1805 004674 00000 :SMCES LENGTH

100’ 76 507 S2715 sSOURCEZ ADDRESS

1807 004 4 sDESTINATION LENGTH

1808 004 6 10113 JSR Pg.CI.BUF sCLEAR BUFFER AREA

1809 004 7 01013 JSR RS, XPSW

1810 886‘71 MWORD 2

1811 714 004 010040 JSR PC.GENR :SET UP GENERAL REGISTERS

181; 882 1 +SEN!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
181 722 63 +CLZ!CLV

}g}g 004724 5 ADDN

1816 004 106767 173744 MFPS CCODES ;STORE RESULTANT PSW

181# 0047, 03767 lglo 17;726 BIC 0197600.(100!8 sCLEAR UNUSED BITS

1813 8827‘ 767 0007 173730 CMP SWNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE

181 7 1401 BEQ 648 :BR, EQUAL

Igo 00475 104001 ERROR 1 sannntnnnsanstdaTEST 15 = ERROR 1vtenensnnennnee
1821 :PSW_ERROR , 4

18 oS AT

1824 004752 648:




-MAIN.

CVKAJB.P11

1825

REREEISRR

dd.‘dddaddﬂddddaddddddddd
W

322323 L

P et b b e ]
FERBRaaRES
rm- VO~

ViAW
VCONONW

BISIININIITEERERCREE

ﬁx

I
¥R

HAC7112305A~_82 032-

ik
g g

%
401
104004

173646

173640

000702

7 000704

005075
173610
173602

65$:

678:

68$:

69%:

708:

718:

728:

73%:

S1T15:

§2T15:

ANS1S5:

AN-!Z 08: 50 PAGE 37
TEST "ADDN'* WITH +SRC1 & -SRC2, SIL .GT. S2L, /S2 .GT. /S1/, OVERFLOW

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
ERROR

TST
BEQ
FRROR

CMP
BEQ
ERROR

CMP
BEQ
ERROR

CMP
BEQ

MOV
ERROR

5,

5

R3

Ré ,DSTLN
29!

RS,DSTAD
708
7
NSAVRG, SP
718

SP, a#BADR6
10

#ANS1S,RO
DSTAD R1

LN.R2
<n0)+.(a1)¢
73

SEQ 0036
sCHECK RO=0

-.tttttttttttttctﬁ;t 15 = ERROR 2tttttsaattttttn

:RO SHOULD BE ZERO

:CHECK R1=0

sennnnnnannesassTEST 15 - ERROR Jranenntnetnttns
:R1 S D BE ZERO

;CHECK R2=0

-ttttttttttttttthST 15 = ERROR 4{ttssasntantntnn
e, 150

sannnnnannaestttTEST 15 = ERROR Stvtnvnantvadees
:R3 SHOULD BE ZERO

:CHECK Ré= DESTINATION LENGTH
snnnnnnnnnnnntasJEST 15 = ERROR Gttasassnnttnnnn

:RG S D STILL BE DESTINATION LENGTH
: CHECK = DESTINATION ADDRESS

sannnnaanaantttaTEST 15 = ERROR 7¢ttaetnvannanes

;RS SHOULD STILL BE DESTINATION ADDRESS
VER{FVongCK POINTER IS RESTORED

:BR _IF

.COPY BAD SP VALUE

sennnnnnnnaattatTEST 15 = ERROR 10neeseanennntnne
:STACK POINTER NOT RESTORED BY INSTRUCTION
:EXPECTED SP IS STORED AT '‘SAVR6''

sERRONEOUS SP VALUE IS AT ‘BADR6"

sCHECK ANSWER

:POINT RO TO EXPECTED ANSWER
:POINT R1 TO RESULTANT ANSWER
:STORE ANSWER LENGTH IN R1
ggﬂ?ARE EACH DIGIT

sannnnnsanastaasTEST 15 = ERROR 11vavtasanvvnntne

:ERRONEQUS ANSWER

:RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
sDECREMENT ANSWER LENGTH

:BR IF NOT_FINISHED

:BR TO NEXT TEST

:SOURCET STRING

;MOST SIGNIFICANT DIGIT

sEXPECTED ANSUER
sMOST SIGNIFICANT DIGIT
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JMAIN. MACY11_30(1046) 22-JAN-82 D8:50 PAGE 38
: : 239.]“-32 0‘:6 T15

CVKAJB.P11 TEST "ADDN'' WITH +SRC1 & -SRC2, S1L .GT. S2L, /82 .GT. /81/, DVERFLOW SEQ 0037
}881 005076 060 .BYTE 60
lggg 005100 .EVEN
1884
}885
1% IRARRARAANAANAARAARA R ERTEARRRRRARANERRRANRANRARAAACAAERRRAR AR
1888 ;*TEST 16 TEST ADDN WITH =SRC1 & +SRC2,S1L .LT. S2L, /S1/ .GT. /S2/,O0VERFLOW
1889 I T i e e 1 e A L 1
1890 005100 TST16: SCOPE
1891 005102 67 007624 JSR RS ,NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
189; 8851 3 3 :SOURCE1 LENGTH
189 511 S S1T16 :SOURCE1 ADDRESS
1896 00511 oooggt. & :SOURCE2 LENGTH
1895 885114 5307 32716 :SOURCE2 ADDRESS
1896 511 ; :DESTINATION LENGTH
1897 0051 004767 007700 JSR PC,CLBUF :CLEAR BUFFER AREA
1898 005124 567 007714 JSR RS . XPSW
1899 0051 ooo;og LWORD 206
1900 005132 004 9 007622 JSR PC,GENR :SET UP GENERAL REGISTERS
1901 005136 000271 +SEN!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
1902 005140 000246 +CLZ!CLV
}?’82 005142 076050 ADDN
1905 005144 106767 173526 MFPS CCODES :STORE RESULTANT PSW
1906 005150 042767 177400 173520 BIC #177400,CCODES ;CLEAR UNUSED BITS
1907 005156 023767 000700 173512 CMP SFEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
1908 005164 001401 BEQ 648 JBR, IF EQUAL
1909 005166 104001 ERROR T sankanennnaraaasTEST 16 = ERROR 1rasantnantntnne
1910 :PSW ERROR
1911 :EXPECTED PSW 1S STORED AT."SAVRb"
191% :ERRONEOUS SP VALUE IS AT 'BADRé6’
1913 005170 64S$:
1914 005170 005700 TST RO :CHECK RO=0
1915 005172 001401 BEQ 5$
1916 005176 104002 ERROR sennnannssaeeestTEST 16 - ERROR QENRRARARRRARANNSY
1917 § ;RO SHOULD BE ZERO
1918 005176 005701 65$: TST R1 :CHECK R1=0
1919 005200 001401 BEQ $
1920 005202 104 ERROR sannnannnnansssaTEST 16 = ERROR LTI T I L
1921 :R1 S D BE ZERO
192§ 005204 005702 66$: TST R; :CHECK R2=0
1923 005206 001401 8EQ 67%
1924 005210 104004 ERROR 4 sannnnnnnnannstsTEST 16 = ERROR 4rrevnnnnnnannne
1925 :R2 S D BE ZERO
19%6 005212 005703 678: TST R3 sCHECK R3=0
1927 005214 1401 BEQ 8%
1928 005216 104005 ERROR suannnnnnanaetttaJEST 16 = ERROR Seressnannnannne
19;8 :R3 SHOULP BE ZERO
1° 5550 2046467 173430 68$: CMP R4, DSTLN :CHECK Ré4= DESTINATION LENGTH
1931 005224 001401 BEQ 69%
193; 005226 104006 ERROR & sennnanennenstttTEST 16 = ERROR Grrnrennnnanvnne
193 :RG S D STILL BE DESTINATION LENGTH
1934 %5230 0567 173422 698: CNP RS,DSTAD sCHECK RS = DESTINATION ADDRESS
1935 005234 001401 BEQ 708
1936 005236 104 ERROR sexnnnnennnnnensTEST 16 - ERROR Jrraesensenntten
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000000000
SANINSS

V00O

Ja3

$833883885888

MACY1?
PN 22=JAN~-
885 40 0237
52644 14
005 kg 106
005252 104010
005254
005254 012700
005260 816701
526/ 016702
885 7 122031
5272 001401
005276 104011
005276 5305
5 00137
005302 05
5304
5304 061
005305 067
00530? 162
00530
005307 060
005310 060
005311 067
00531§ 062
00531
005313 060
005314 060
005316
005316 000004
5 567
885 %
5 5
005
i
5 (<
5 33 567
5 ;0;
005%5
i g
N

000702
000704

7462
7476

007404

0(10635 oigzsAN-OZ 08:5?16PAGE

708:

718:

728:

738:

S1T16:

$2T16:

ANS16:

39

TEST ADDN WITH =SRZ1 § +SRC2,S1L .LT. S2L, /§81/ .GT. /S2/,OVERFLOW

CMP
BEQ

MOV
ERROR

DEC
BNE
BR

.BYTE
.BYTE
.BYTE

.BYTE
.BYTE
.BYTE
.BYTE

.BYTE
.BYTE

.EVEN

s*TEST 17

’1§AVR6.SP
SP ,a#BADR6
10

#ANS16,RO
DSTAD,R1

DSTLN,R2
(RO +,(R1)+
i

sRS SHOULD STILL BE DESTINATION ADDRESS
TVERI:' STACK POINTER IS RESTORED

:BR _IF OK
;COPY BAD SP VALUE
sannnnnnnanantstTEST 16 = ERROR 10vnennsanananenes

;STACK POINTER NOT RESTORED BY INSTRUCTION
sEXPECTED SP IS STORED AT ‘SAVRG''
;ERRONEOUS SP VALUE IS AT 'BADRG'

:CHECK ANSWER

sPOINT RO TO EXPECTED ANSWER

sPOINT R1 TO RESULTANT ANSWER

:STORE ANSWER LENGTH IN R1

:COMPARE EACH DIGIT

:BR IF EQUAL

:.at......g.ggnﬂ’sﬂ’ 16 = ERROR 11tetssssnsettntt
:ERRONEOUS ANSWER

:RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
sDECREMENT ANSWER LENGTH

JBR IF NOT FINISHED

JBR TO NEXT TEST

+SOURCE1 STRING

:MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
sMOST SIGNIFICANT DIGIT

sEXPECTED ANSWER
sMOST SIGNIFICANT DIGIT

';ttti.tﬁ..it'tttttltttitttt*'ti'*ﬁttiiitﬁttﬁtttttttttt.ttl.tt..'

TEST ADDN WITH +SRC1 & -SRC2, S1L=S2L, /S1/ .GT./S2/,OVERFLOW

e s AARRARARAAAAAARAAARRNCARAAAAAANARAAARAAARAAARAAAAAAARAAASAAAAAY

f§T17: score
JSR

gS.NPREP
§1717
32717

PC,CLBUF
RS XPSW

20
PC,GENR

sPREPARE ARGUMENTS FOR INSTRUCTION TEST

NERAL REGISTERS
E COMPLEMENT OF EXPECTED CC'S

5%
=@

SEQ 0038




JMAIN.

MACYT

CVKAJB.P11
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mea%%.w%_ PRV N NSO

20108 32

i

1

401
011

ﬁi’*’%%

1;;310

173212
173204

000702
000704

7

3
rd

92

4

648:

65%:

67$:

698:

708:

718:

728:

738:

$1117:

AN-82 08: 50 PAGE 40

TEST ADDN WITH +SRC1 & -SRC2, S1L=S2L, /S1/ .GT./S2/,0VERFLOW

MFPS
BIC
CMP

TST
ERROR
TST
ERROR
TST
ERROR
TST
ERROR
CMP
ERROR
CMP
ERROR

cMP
BEQ

MoV
ERROR

n %EOO.CCODES
O’;XPPSU.CCODES

5,
R1

66%

3

5

&

R3

68$

5

zg ‘DS TLN
6

RS,.DSTAD
70§

@#SAVR6, SP

sSTORE RESULTANT PSW
:CLEAR UNUSED BITS
CHECKFPSH AGAINST EXPECTED VALUE

nnnn““nﬂ'ESI 17 = ERROR 1ttstnattntnanes

W_ERROR
'EXPECTED PSW IS STORED AT ‘‘SAVR6"’
ERRONEOUS SP VALUE IS AT 'BADR6™

:CHECK RO=0

nttn“"tuntesr 17 = ERROR 2¢tttsnutattttts

:RO_SHOULD BE ZEROD
; CHECK R1=0

sennnnnnanattntdTEST 17 = ERROR Jreennntnnnnanen

CHESHG.%D BE ZERO

snnnnnnnnnnttatsdTEST 17 = ERROR 4rtttnnnntttnnns
s O

sennnnnnnteetanddTEST 17 = ERROR Stttvvstatennntee

:R3 SHOULD BE ZERO
;CHECK R4= DESTINATION LENGTH

sennnnnnaensttntTEST 17 = ERROR Gretsnnnnanntnnn

;R4 D STILL BE DESTINATION LENGTH
: CHECK = DESTINATION ADDRESS

"unnttnt"TESt 17 = ERROR 7ttattsatttettns
sR5 SHOULD STILL BE DESTINATION ADDRESS

gsniﬂ éucx POINTER IS RESTORED

:COPY BAD SP VALUE ’

nnnnnnnt‘l’est 17 = ERROR 10ttenssenananene
ETACK POINTER NOT RESTME? B‘VmgNSTRUCI’IM

XPECTED SP IS STORED AT
;ERRONEOUS SP VALUE IS AT *BADRG'*

s CHECK ANSWER
'POINT TO EXPECTED ANSWER

s STORE
.CWME EACH DIGIT
:BR IF

EQUAL
-ntnnnnnntfsr 17 = ERROR 11ttaanasnsnnanesn

OUS ANSWER
ONTAINS THE PC+1 OF THE EXPECTED DIGIT

CO‘TA NS THE PC+1 OF THE RESULTANT DIGIT
R _LENGTH

TRING
.MSY SlﬂlFlCMT DIGIT

SEQ 0039
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B &

TEST ADDN WITH +SRCT1 & -SRC2, S1L=S2L, /S§1/ .GT./S2/,OVERFLOW

SOURCEZ STRING
T SIGNIFICANT DIGIT

sEXPECTED ANSWER

:MOST SIGNIFICANT DIGIT

tit'tti'tttittﬁtttttt'tt"!.tt.ﬁ'tt.ttttﬁﬁQt*tttt'tit'ttititt't

CRARRARRAARRR RN RRAAAANAAAARAAAAAARRAAAANARAAAAACACACAAAAAAARAAAANS

50 7PAGE 61
.BYTE 6;
BYTE 6

$2T17:
.BYTE gg
.BYTE
BYTE 165

ANS17:
.BYTE 6%
BYTE 6
.EVEN

*TESF 20

t8720:  SCOPE

JSR §S.NPREP
§1T20
32720

JSR Pg.CLBUF
-
JSR PC,GENR
SCC
CLYV
ADDN
MFPS CC?DES
BIC #177400,CCODES
CMP SNEXPPSW,CCODES
BEQ 64
ERROR

648 :
TST RO
BEQ 65$%
ERROR 2

658%: TST R1
BEQ
ERROR

66$: TST R;
BEQ 67%
ERROR &

67%: TST B
o
ERROR

sPREPARE ARGUMENTS FO~ INSTRUCTION TEST
SOURCE LENGTH

DESTINATION LENGTH
:CLEAR BUFFER AREA

sSET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

:STORE RESULTANT PSW
:CLEAR UNUSED BITS
:CHECK PSW AGAINST EXPECTED VALUE

tt‘ttttstttltttTGST 20 = ERROR 1rtasnnasannsven

:PSW_ERROR
:EXPECTED PSW IS STORED AT ‘'‘SAVR6"
;ERRONEOUS SP VALUE IS AT 'BADR6'

:CHECK RO=0

ttltttttttttittTEST 20 = ERROR 2ttttasattentney

;RO S D BE ZERO
:CHECK R1=0

sennnnnnnnasaansTEST 20 = ERROR Stennnnnnnnanans

:R1_SHOULD BE ZERO
:CHECK R2=0

sannnnnnnnaesataTEST 20 = ERROR {rtevnnanannnnee

c"ESHogkb BE ZERO

sennnnnnannnesesTEST 20 = ERROR Strntnnnnnnnnnne

:R3 SHOULD BE ZERO

SEQ 0040

TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW
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CVKAJB.P11 TEST ADDN WITH POSITIVE OPERANDS, OVERFLOW, NO CARRY OUT OF OVERFLOW SEQ 0041

105 562 7 172776 68$: (¥, R4 DSTLN :CHECK Ré&= DESTINATION LENGTH
1 6 1401 BEQ 69$

10 ERROR 6 ununnntn‘resr 20 = ERROR frrtennattntttnst
183 SHO%D STILL BE DESTINATION LENGTH
}10 5 020587 172770 69$: 55 ;B‘DSTAD = DESTINATION ADDRESS

m 56 ERROR 7 tntnnnntntﬁﬂ 20 = ERROR 7ttttsnsntttatty
11; RS SHOULD STILL BE DESTINATION ADDRESS
" 72 08 000702 708: CMP ?ISAVRG.SP .VERIF Y STACK POINTER IS RESTORED
114 005676 14 BEQ 1$ :BR IF OK
*1S 005700 0106 000704 MOV SP,a#BADRS :COPY BAD SP VALUE
119 005704 104010 ERROR 10 unnunnntTEST 20 = ERROR 10tttneanntnttene
1" STACK POINTER NOT RESTMEP BY INSTRUCTION
118 sEXPECTED SP IS STORED AT .'SAVRG''
119 .E RONEOUS SP VALUE IS AT ‘BADR6
1 005706 718:

%1 1 :CHECK ANSWER
1 g 57 012700 005744 MOV #ANS20,RO :POINT RO TO EXPECTED ANSWER
1 5712 016701 172742 MOV DSTAD R POINT R1 TO RESULTANT ANSWER
124 005716 016702 17273 MoV R2 STDRE ANSWER LENGTH IN R1
125 005722 122021 72%: CMPB (RO)*.(M)* CWARE EACH DIGIT

2126 005724 001401 BEQ 738 *BR IF EQUAL
127 005726 104011 ERROR 1 ,ttn“nntn- TEST 20 = ERROR 11tttantnttttttns
128 ; ERRONEQUS ANSWER
1%(9) RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
1 R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
131 005 00530 738: DEC Rg .DECRE!ENT ANSWER LENGTH

213§ 00573. 00137 BNE 72% :BR IF NOT FINISHED

2133 005734 000404 BR TST21 BR T0 'EXT TEST

2134 005736 $1720: SMCEI RING

%135 005736 070 BYTE 70 HOST SIGNIFICANT DIGIT
136 737 062 .BYTE 62

%137 005740 064 BYTE 64

138 005741 $2T20: :SOURCE2 STRING

5139 005741 061 .BYTE $1 HOST SIGNIFICANT DIGIT
140 00574 070 .BYTE g

2141 00574 065 BYTE 6

214; 005744 ANS20: JEXPECTED ANSWER

Sllo 005744 060 .BYTE ?0 MSI’ SIGNIFICANT DIGIT

5}2; 005745 o7 BYTE 1

1 .EVEN

fiiz

149 R L LT L Ll L bt b ddabeddebiiebiviiediiviabbb bt L AL AL LA L L L
150 1IrTEST 21 TEST INTERRUPTABILITY OF "‘ADDN'’
151 AR RRARRAARAAANAAANAEERRRRRRRARRRRANAANRAARRARAAANARAR AR RRAE
1s§ 574 oooggt. " t§121:  SCOPE
15 5750 105777 172564 TST8 asua sTEST BIT 7 OF S
154 5754 100555 BMI SKIP TO NEXT TEST IF SETY
155 5756 6767 172566 172700 CMNP $TPS TCSR ;1S SLU USED FOR INTERRUPTS THE CONSOLE?
136 5764 001007 BNE gu :BR, IF NOT & PERFORM INTERRUPTABILITY TEST
}ga %g% €‘87 000001 172612 gg {T SENV .g! VE?. ml); PROGRAM UNDER APT?
159 5772 576; 172572 TST 33 :IF'YES.CHECK IF NOT ON FIRST PASS
160 001142 BNE TST :IF NOT, BR & SKIP TEST




™e

D &

MAIN. cm ( 2=JAN-82 08: 50 PAGE 43
VKAJB.P ;0 Aa‘-gz 0‘ TEST INTERRUPTABILITY OF °‘‘ADDN'’ SEQ 0042
161 T21CONT:
1 . JSR RS _NPREP +sPREPAR ARMNTS FOR INSTRUCTION TEST
1 : .SMCE LENGTH
1 . s1T21 sSOURCE1 ADDRESS
165 . & :SMCEs LENGTH
169 : 22121 s SOURCE2 ADDRESS
16 ) .DESTIMTIM LENGTH
163 . JSR .CI.E BUFFER AREA
16 § 172640 MOV lAﬁDMC PCl STORE PC OF TEST INSTRUCTION
170 . 172626 MOV OINTR ifVECT POINT TTY VECTOR TO INTERRUPT ROUTINE
171 . CLR TPSW 'AI.LW INTERRUPTS AFTER TTY INTERRUPT
1;; JSR PC TDONE JWAIT FOR SLU READY
1 172606 MOV uinuu..a *SEND NULL CHARACTER
174 JSR STG!E EXPECTED PSW
175 .WORD 0
1;9 MTPS #0 :ALLOW INTERRUPTS
1 0060 172564 8IS #100,8TCSR :ENABLE TTY INTERRUPTS
178 %1 READDN: JSR PC.GENR :SET UP GENERAL REGISTERS
179 104 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
‘1|310 006106 ADDNPC: ADDN
glgg 006110 MFPS :STORE RESULTANT PSW
1 006114 172542 BIT 0100 3TCSR .IF NTERRUPTS ARE DIS\BLED, INSTRUCTION WAS INTERRUPTED
184 006122 BNE READDN :BR & DO TEST AGAIN. IF INSTRUCTION WAS NOT INTERRUPTED
185 006124 172544 BIC #1776400,CCODES :CLEAR UNUSED BITS
186 006132 172536 CMP U;XPPSU .CCODES CHECK PSW AGAINST EXPECTED VALUE
187 006140 BEQ .BR. IF EQUAL
188 006142 ERROR tnnntnnnﬂfst 21 = ERROR 1ttasneasnantnee
189 ;PSW ERROR
190 EXPECTED PSW IS STORED AT "SAVR.b."
191 RRONEOUS SP VALUE IS AT 'BADR6
19§ 006144 648 :
193 006144 005700 TST RO 'CHECK RO=0 ,
194 006146 001401 BEQ 58
195 006150 104002 ERROR -ntntnnnnﬂsst 21 = ERROR 2%ttt ttttatttte
196 :RO SHOULD BE ZERO
197 006152 5701 65$%: TST R1 +CHECK R1=0
198 006154 1401 BEQ
199 006156 3 ERROR sennnnannsasnnacTEST 21 - ERROR Traneantatnansdns
R‘l S D BE ZERO
0061 005702 66$: TST R; R2=0
1401 BEQ 678

58
b S
:

nntnnttnn‘l’iﬂ 21 = ERROR 4rrtasnnttiannnnn

'RZ S BE ZERO
1 5703 67%: TST R3 %0
1 1601 BEQ 283
006172 104005 ERROR ;tnnnnnnntfst 21 = ERROR Sttatatansnanens
;RS SHOULD BE ZERO
006174 88?28; 1724564 68$: CMP R&DSTLN sCHECK Ré4é= DESTINATION LENGTH
8&%82 1046006 ERROR sanennnantansnasTEST 21 = ERROR Grervrsensssenee
‘R4 S D STILL BE DESTINATION LENGTH
&?’K 1237 172446 698: gg ;&DSTAD :CHECK RS = DESTINATION ADDRESS
1g 104 ERROR 7 sennnnnannntaaaaTEST 21 = ERROR 7tttasnsnnanntns

;RS SHOULD STILL BE DESTINATION ADDRESS
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006230

0062
006274

006304

e i

000702
000704

70
17 418
17261

172370 172364
000200

006414

70
504

E &

ESR{FV STACK POINTER IS RESTORED
:COPY BAD SP V

tttt'tttt'ttttt?EST 21 = ERROR 10tetsssasantttee
STACK POINTER NOT RESTME? 8Y INSTRUCTIW
1»unnvxsﬂmnar 'SAVRG'*

RRONEOUS SP VALUE IS AT ‘BADR6

sCHECK ANSWER

sPOINT RO TO EXPECTED ANSWER
;POINT R1 TO RESULTANT ANSWER
;STORE ANSWER LENGTH IN R1
.ggH?ARE EACH DIGIT

[

sennanananeranasTEST 21 = ERROR 11tenanennnnennee

:ERRONEOUS ANSWE
;RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
:DECREMENT ANSWER LENGTH
BR IF NOT FINISHED
B8R TO END OF THIS TEST
SOURCE STRING
;MOST SIGNIFICANT DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

sEXPECTED ANSWER
;MOST SIGNIFICANT DIGIT

ttt'ttlttt..'Q..t.t.'itt"ttttlt.lttt*tt'i..'tﬁtﬁitttitt.ttt.ﬁ.

TEST *'SUBN'* WITH POSITIVE OPERANDS,SRC1 .GT. SRC2

cARRRARAAARAANARAAANRRARARRRARAARAARAANARAAAAAAAAAAARAAAACAARCAES

sPREPARE ARGUMENTS FOR INSTRUCTION TEST
sSOURCE1 LENGTH

:SOURCE1 ADDRESS

SOURCE; LENGTH

; SOURCE2 ADDRESS

;DESTINATION LENGTH

;CLEAR BUFFER AREA

S0 PAGE 44 B VR
T21 TEST INTERRUPTABILITY OF °‘‘ADDN'
708: (WP ,lSAVRb.SP
BEQ 13
MOV SP, a#BADRG
ERROR 10
718:
MOV #ANS21,RO
MOV DSTAD,R1
MOV DSTLN,R2
728: CMPB  (RO)+,(R1)+
BEQ 3$
ERROR 11
738: DEC
BNE 7%
BR ENDT21
$17121:
.BYTE 61
.BYTE 2;
.BYTE
.BYTE 64
§2T121:
.BYTE 65
.BYTE® 66
.BYTE 67
BYTE 70
ANS21:
BYTE 60
BYTE 66
BYTE 71
BYTE 61
.BYTE 62
.EVEN
ENDT21: MOV TPSW,ATVECT
MTPS  #200
-resr 22
t8722: SCOPE
JSR zs.upaep
1122
§2122
JSR p .CLBUF
JSR * XPSW

.WORD 216

SEQ 0043
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CVKAJB.P11 TEST *‘SUBN'' WITH POSITIVE OPERANDS,SRC1 .GT. SR(C2 SEQ 0044
73 006412 JSR PC,GENR sSET UP GENERAL REGISTERS
;g gfﬁ :SET UP THE COMPLEMENT OF EXPECTED CC'S
7 SUBN
;g 767 ; MFPS 99 80 sSTORE RESULTANT PSW
767 17 l. 175302 8IC #177400,CCODES  :CLEAR UNUSED BITS
80 7 7 (MP USXPPSU .CCODES CHECK PSW AGAINST EXPECTED VALUE
81 1401 BEQ :BR, IF EQUAL
8 006376 104001 ERPOR a;ngnnnnnl’est 22 = ERROR 1ttsatnanantants
SM EXPECTED PSW IS STORED AT ''SAVR6'’
232 648 :ERRONEOUS SP VALUE IS AT 'BADR6'’
g 88 e B ot sg
Sgg 06 10600¢ ERROR s sannnnnnteannataTEST 22 = ERROR 2evantnnsenntene
;RO _SHOULD BE ZERO
g 006‘1 gzg} 658: ;.g R1 :CHECK R1=0
223% 00641 104003 ERROR g“ ;;t;nn;t;zt;gfﬂ 22 = ERROR 3ttnannatnttttns
i gt o wom o o
zg 006420 104004 ERROR & ;snnnnagt;gEST 2?7 = ERROR 4ressnsanansnnne
i gun a S o T
301 006426 104005 ERROR S -;;nuuu;;t;gt%ﬂ 22 = ERROR Sttnesasnanattnst
3385 88232 85?28: 172220 68$: % 23‘081’1.'1 sCHECK Ré= DESTINATION LENGTH
305 006636 104006 ERROR 6 sennannannaansteTEST 22 = ERROR Grernnnsnnnnnnns
30? R4 D STILL BE DES'!NAHN LENGTH
308 006440 85(1)28; 172212 698: gg l;(s"osm s CHECK 8 DESTINATION ADDRESS
309 006446 104007 ERROR 7 sannnnnnntnettaaTEST 22 = ERROR 7entnnsannnnvens
gw RS SHOULD STILL BE DESTINATION ADDRESS
3}1 mgg &2)?{0; 000702 708: gg %gAVRb.SP ;'E‘R{F Y“STACK POINTER IS RESTORED
§§1§ 006423 01 000704 MOV SP,#BADR6 :COPY BAD SP VALUE
14 104010 ERROR 10 ttntunntnt‘resr 22 = ERROR 10tstssasannsanne
15 :STACK POINTER NOT RESTORED BY INSTRUCTION
<l 19 :EXPECTED SP IS STOURED AT ''SAVRG''
1 :ERRONEOUS SP VALUE IS AT "BADR6"
g;s 006464 71$: - CHECK
12700 5 MOV #ANS22 R :POINT 10 EXPECTED ANSWER
1 16701 1721 MOV DSTAD, i :POINT R1 TO RESULTANT ANSWER
i 74 12702 1721 MOV R2 ;STORE ANSWER LENGTH IN R1
5 081 728: CMPB (ROH.(R‘IM ;COMPARE EACH DIGIT
% 50 1401 BEQ 73% :BR IF EQUAL
5 506 104011 ERROR 1 """"":;;;E{ES' 22 = ERROR 11tssansssnenssnnt
R? CONTAINS THE PC+1 OF THE EXPECTED DIGIT
8 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
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CVKAJB.P11 TEST *'SUBN’'' WITH POSITIVE OPERANDS,SRC1 .GT. SRC2 SEQ 0045
S 738: DEC RS DECRE&NT MSHER LENGTH
1 1 BNE 72% BR IF NOT FINISHED
1 1 0 BR TST23 BR T0 otxr TEST
1 s1122: .SOllICﬂ STRING
206514 .BYTE 90 JMOST SIGNIFICANT DIGIT
% 15 1 .BYTE 1
S 19 .BYTE
;1 .BYTE
ser2e2: sSOURCE2 STRING
S 067 .BYTE 67 JMOST SIGNIFICANT DIGIT
521 065 BYTE 65
0 S 064 BYTE 64
1 S ANS22: sEXPECTED ANSWER
i S .BYTE 25 MST SIGNIFICANT DIGIT
526 .BYTE
: 525 170 BYTE 170
.EVEN
348 IERARRARARRARRRARRRE AR CENRRRARAARRAARRATANAANARAARATAAEACRCRARR
349 tTEST 23 TEST *'SUBN'' WITH NEGATIVE OPERANDS, SRC1 .GTT. SR(C2
350 T I I e e et it 1 1 1
351 ooesgs ooogg‘ #§723:  SCOPE
2352 0065 004567 006176 JSR RS .NPREP :PREPAR ARGUENTS FOR INSTRUCTION TEST
53 0065 000%3 :SOURCET LENGTH
254 S 0 s1123 :SOU!CEI ADDRESS
5S 54 [ SMCES LENGTH
356 562 006733 2123 sSOURCEZ ADDRESS
357 006544 ; JDESTINATION LENGTH
358 0065‘3 00476 8&552 JSR Pg.CLBUF CLEM BUFFER AREA
gzg 00655 567 66 JSR RS XPSW
006223 ;og WORD 2
1 006 97 006174 JSR PC,.GENR :SET UP GENERAL REGISTERS
%564 65 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
0 566 076051 SUBN
S 006570 106767 1;;102 MFPS CCODES ;STORE RESULTANT PSW
006574 767 1774 172074 8IC #177490,CCODES CI.EM UNUSED BITS
gg‘ 00660 23767 0007 172066 CMP UEXPPSH.CCwES CHECK PSW AGAINST EXPECTED VALUE
1 1601 BEQ :BR, IF EQUAL
?78 1 104001 ERROR ,n;n;nnnnn]’sﬂ 23 = ERROR 1t#tetsasssavtnts
.EXPECTED PSW 1S STORED AT, *'SAVR6'*
1% 648: :ERRONEOUS SP VALUE IS AT 'BADR6"’
74 %‘M 5700 TST Rg ;CHECK RO=0
1 1401 BEQ $
7 106002 ERROR tnunn"nntﬁﬂ 23 = ERROR 2%ttsssanssetnnse
;s 2 5701 65$: TST R1 CHE %
& 1401 BEQ
003 ERROR -nnnunn u‘l’ES'l’ 23 = ERROR 3ttnttntntanttns
gg1 ) A SH(MéD BE ZER
0N6635( 5782 66$ TST R CHE
1401 BEQ 67%
106004 ERROR 4 sanknnnnnnnnnvasJEST 23 = ERROR 4resssnnnntnnnnse




JMAIN. MACY1
CVKAJB.PT1

| 8 B s
m m 172004 688

88?:0? 000702 708:
400 01083 000704
006676 104010

006700 718:

289 006700 012700 006737

08 006704 816701 171746

409 006710 016702 171740

610 716 122021 72%:
611 716 001401

61; 720 104011

41

14

2}5 2 00530 738
13 00eros 0013
3418 006726 000405

219 006 o S1T23:
621 % 1

A g 1

4 $2T23:
624

625 07

4 006735

627 161

b 4 ANS23:
4 061

4 740 063

’l: 1 761 061
4

8724 :
171570 12

Sguastiy

TST
BEQ
ERROR

-EVEN

SCOPE
1ST8
BMI

g
2‘6‘05'&“

RS,DSTAD
70§
7
VR6,SP
1$

SP,4#BADR6
10°

#ANS23 RO
DSIAD R

R2
(ROH. (R1)+
4

(1046) 22-JAN-82 08:50__PAGE 47
239.!!&32 0‘:6 123 TEST ''SUBN'* WITH NEGATIVE OPERANDS, SRC1 .GTT. SRC2

'IZ Si%.oﬁ ZERO

;nnntnnnnrsst 23 = ERROR Sttnasanentettes
:R3 D BE_ZERO
sCHECK Ré= DESTINATION LENGTH

sennnanentansaetTEST 23 « ERROR Oretttntnnanatees

:Ré D STILL BE DESTIMTIN LENGTH
: CHECK = DESTINATION ADDRESS

snnnnnannnnttttaTEST 23 = ERROR 7eeenennnenanens

:RS SHOULD STILL BE DESTINATION ADDRESS
Y“ER}FY uSTACK POINTER IS RESTORED

;COPY BAD SP VALUE

-tntnnntt"ﬂssr 23 = ERROR 10ttsesnsnnnnnnee
sSTACK POINTER NOT RESTORED BY msrmcnuu
EXPECTED SP 1S STORED AT °‘SAVR6''

:ERRONEOUS SP VALUE IS AT "BADRG'*

;CHECK ANSWER

POINT RO TO EXPECTED ANSWER

POINY R1 TO RESULTANT ANSWER

'STME ANSWER LENGTH IN R1

sCOMPARE EACH DIGIT

.U! IF EQUAL

nnntunnntfﬂ' 23 = ERROR 11atssnennnnnnnee

; ERRONEQUS ANSWER
RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
:R1 CONTAINS THE PC+1 OF THE RESULTANT DIGIT
:DECREMENT ANSWER LENGTH
BR IF NOT FINISHED
B8R T0 OEIT TEST
SMCE‘I TRING
:MOST SIGNIFICMY DIGIT

:SOURCE2 STRING
:MOST SIGNIFICANT DIGIT

sEXPECTED

D ANSWER
:MOST SIGNIFICANT DIGIT

tttttt.'itt.ﬁtttittttti"'.tt...it.'.i..ttlt'tttittttttti..t'tt

*TEST 24

TEST INTERRUPTABILITY OF ‘‘SUBN'’

aSWR
TST25

CARRARAAAARAARAARARRARARE R AR RAARAAAARARAAAANAAAAAAARAAANARARAASRAS

;TEST BIT 7 OF S
:SKIP TO NEXT YEST IF SET

SEQ 0046
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CVKAJB.P1 220 .Mg"gl Oi TEST INTERRUPTABILITY OF °‘‘SUBN'’ SEQ 0047
75 767 171572 171704 CMP $TPS,TCSR ;18 SLU USED FOR INTERRUPTS THE CONSOLE?
Y4 1 BNE T24CONT HI IF NOT & PERFORM INTEWT’B]LI" TEST
Y{ 000001 171616 BIT 327 . SENV :IF YES, IS PROGRAM UNDER APT?
& BEQ T26CONT gF NOT
5767 171576 TST smgg .IF Y S.C*CK IF WT N FIRST PASS
Y4 1% T24CONT BNE TST sIF NOT, BR & SKIP T
7 005726 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
4 .SMCE LENGTH
S1T24 :SOURCE1 ADDRESS
1 4 :SM(E LENGTH
1 iZTZ& :SOURCEZ2 ADDRESS
1 °DESTIMTIOI LENGTH
;81 6 00%08’2‘ JSR PC.CLBUF °CLEAR BUFFER AREA
12767 0071 171644 MOV #SUBNPC ,PC1 :STORE PC OF TEST INSTRUCTION
70 1 015114 171632 MOV #INTR, ifVECT 'POINT TTY VECTOR TO INTERRUPT ROUTINE
70 077 171633 CLR - @TPSW .ALLW INTERRUPTS AFTER TTY INTERRUPT
704 ;9; 0060; JSR PC,TDONE JWAIT FOR SLU READY
;8;2 13 oogs & 171612 MOV af$NULL.QTBUF  :SEND NULL CHARACTER
S67 005764 JSR RS . XPSW STME EXPECTED PSW
7060 19 WORD 10
007062 1034 000000 MTPS #0 :ALLOW INTERRUPTS
7066 8& 000100 171570 8IS #100,8TCSR EMBLE TTY INTERRUPTS
7074 767 005660 RESUBN: JSR PC,GENR *SET UP GENERAL REGISTERS
7100 000 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
7102 000250 CLN
0071064 076051 SUBNPC: SUBN
0071 1%% 171564 MFPS CCODES :STORE RESULTANT PSW
00711 0 000100 171544 BIT #100,8TCSR IF NTERRUPTS ARE DISABLED, INSTRUCTION WAS INTERRUPTED
0071 001365 BNE RE; BR [ [1) TES" AGAIN. IF lNSfRUC"O‘ WAS NOT INTERRUPTED
g 0071 8‘5767 1776400 171546 BIC #177600,CCODES 'CLEM UNUSED BITS
4 0071 0% 767 000700 171540 CMP SNEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
674 71 14601 BEQ 64$ .BR. IF EQUAL
2;2 7160 104001 ERROR 1 -t;nznnnnntfsr 24 = ERROR 1rasessannavtanes
G77 :EXPECTED PSW IS STORED AT "SAVRQ"
478 ERRMWS SP VALUE IS AT 'BADR6
479 007163 64S$:
(80 00714 885700 TST Rg :CHECK RO=0
481 71464 1401 BEQ $
Z§‘i 71646 104002 ERROR '8"““;';;'“7557 24 = ERROR 2ttsstattatntnns
:R ZERO
715 5701 65$: TST R1 °CFE R1=0
485 715 1401 BEQ
1.‘39 71 1046003 ERROR nntnnnnntﬁt 24 = ERROR 3tratssnsnnnennee
488 00715 885702 66$: TST R; CHEC 5
489 0071 1401 BEQ 67%
490 0071 ERROR & nnnnnnnﬂ'ES‘l’ 26 = ERROR 4rtrssanasnsnntne
49 RZ S D BE ZERO
49 7164 5703 67%: TST R3 .CHECK 0
49 71 1401 BEQ
23"5 71 104005 ERROR :;;""“;';E*;E{SST 26 = ERROR Strassstsnsannne
496 007172 020467 171456 68$: CHP R4&,DSTLN :'CHECK Ré= DESTINATION LENGTH
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2303Aw-82 0834 24
401

69%:

708:

718:

72%:

738:

S1T24:

$2T124:

ANS24:

ENDT24:

s*TEST 25

L9

TEST INTERRUPTABILITY OF '‘SUBN'’

BEQ 698

ERROR 6

cHP RS,DSTAD
BEQ 70$
ERROR 7

cMP SAVR6, SP
BEQ ”s

MOV SP, a#BADR6
ERROR 10

MOV #ANS24 RO
MOV DSTAD,R1
MOV DSTLN.R2
CMP8  (RO)+.(R1)+
BEQ 73

ERROR 11

DEC R

BNE 728

BR ENDT24
.BYTE 61

.BYTE 8

.BYTE

.BYTE 64

.BYTE 65

-BYTE

BYTE 6

.BYTE 170

BYTE 60

BYTE 96

BYTE 71

BYTE ?1

BYTE 162

.EVEN

MOV TPSW,@TVECT
M #200

sennnnnnnenesaeeTEST 24 =~ ERROR Gretvtntnnndenes

sRé D STILL BE DESTINATION LENGTH
s CHECK = DESTINATION ADDRESS

sennnnnnannenaesTEST 24 = ERROR hun:unn’n

sR5 SHOULD STILL BE DESTINATION ADDRESS
:VER];Y STACK POINTER IS RESTORED

:BR IF OK

:COPY BAD SP VALUE

sannnnssensnsansTEST 24 - ERROR 108t eanntnatetnnst
sSTACK POINTER NOT RESTMEP 8Y IQJ.STRUCTIO‘
;EXPECTED SP IS STORED AT ''SAVR6'®

ERRONEOUS SP VALUE IS AT 'BADRG

sCHECK ANSWER

sPOINT RO TC EXPECTED ANSWER
sPOINT R1 TO RESULTANT ANSWER
sSTORE ANSWER LENGTH IN R1
:&Wﬁkﬁ EACH DIGIT

sunnnnnannsansesTEST 24 = ERROR 11tnennsnnnentnnn

sERRONEOUS ANSWER

2RO CONTAINS THE PC+1 OF THE EXPECTED DIGIT
sR1 _CONTAINS THE PC+1 OF THE RESULTANT DIGIT
sDECREMENT ANSWER LENGTH

sBR IF NOT FINISHED

:BR TO END OF THIS TEST

sSOURCE1 STRING

sMOST SIGNIFICANT DIGIT

:SOURCE2 STRING
sMOST SIGNIFICANT DIGIT

sEXPECTED ANSWER
sMOST SIGNIFICANT DIGIT

‘:...'!ttt'tttt..ttttttt't'i*tt.i.ﬂtttit.".t.ttttitt.'tﬁ'tt.tt.ﬁ

TEST ‘'CMPN’* WITH ALL ZEROES IN BOTH SOURCE STRINGS

s e ARARRARARRAARAAAANARRRRCARREAAARAAAARAARAAAAAAARARRAAARACARACARAS

fSr25: score
JSR

R5 .NPREP
3

:PREPARE ARGUMENTS FOR INSTRUCTION TEST
sSOURCE

LENGTH

SEQ 0048
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; 007450
007454

7456
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007442 023
7446

K &
TEST ''CMPN'’ WITH ALL ZEROES IN BOTH SOURCE STRINGS

AN-82 08: 50 PAGE 50

SEQ 0049

51725 s SOURCE1 ADDRES"
ouacs; LENGTH
gZS .SOLRCE ADDRESS
:STORE NON-ZERO VALUE TO TEST R4 UNAFFECTED BY '‘CMPN'‘ IN
005512 JSR RS , XPSW
LWORD 204
005420 JSR PC.GENR sSET UP GENERAL REGISTERS
gfg :SET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
171324 MFPS CCODES sSTORE RESULTANT PSW
1774 171313 BIC #177400,CCODES ;CLEAR UNUSED BITS
000700 17131 gell; 6azsxl’l'sw.(Z(:(JDE.“» g:ECK PSW AGAINST EXPECTED VALUE
ERROR 'n;uttnntntreﬂ 25 = ERROR 1ttnsnsnnneanane
:PSW_ERROR
EXPECTED PSW IS STORED AT *'SAVR6"*
648 ;ERRONEOUS SP VALUE IS AT 'BADR6'
" 1ST RO ;CHECK RO=0
BEQ 65%
ERROR 2 -nnnunnuﬂfgt 25 = ERROR 2ttstsstttattttns
;RO SHOULD BE ZERO
658: ;g R1 CHECK R1=0
ERROR g“ sannnnnnnanttsatTEST 25 = ERROR Jannnansnvanvnen
:R1_SHOULD BE ZERO
66$: ;gz 2;3 :CHECK R2=0
E#ROR 4 tttttttttttttttTEST 25 = ERROR 4rtrasntnatntnad
RZ SHO%D BE ZERO
67%: TST R3
BEQ 283
ERROR nntnnnnntﬁﬂ 25 = ERROR Stttnrtntananttnst
:R3 SHOULD BE ZERO
171226 68$: CMP R4 . DSTLN :CHECK R4 WCHMGED
BEQ 69§ :BR IF
ERROR 6 tztz.ttt;;tttttTEST 25 = ERROR Grttnsstantstans
:R¢ S D STILL EQUAL CONTENTS OF ‘FILL"
171220 69%: glel; lrtg‘DSTAD : CHECK UNCHANGED
ERROR sannnnanansantsaJEST 25 = ERROR 7atennnnnanannne
:RS CHANGE
:RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD’
000702 70$: glelo’ %‘gA\IRb.SP .ZSR}FY uSTACK POINTER IS RESTORED
000704 MOV SP,34BADR6 :COPY BAD SP VALUE
ERROR 10 tunnnnnnl’fsr 25 = ERROR 10trtxesasssstnnnse
:STACK_POINTER NOT RESTMEP BY INSTRUCTION
;EXPECTED SP IS STORED AT ''SAVRG''
2718: :ERRONEOUS SP VALUE IS M‘ ‘BADRG"’
" BR TST26 :BR TO NEXT TEST
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CVKAJB.P11 22=JAN- TEST ''CMPN'* WITH ALL ZEROES IN BOTH SOURCE STRINGS SEQ 0050
$1725: :SOURCE1 STRING
.BYTE sMOST SIGNIFICANT DIGIT
BYTE 6
.BYTE
$2125: :SOURCE2 STRING
828 .BYTE 60 sMOST SIGNIFICANT DIGIT
.BYTE 60
060 .BYTE 60
.EVEN

: :tttittttittittt'ttt'ttttttl‘.tt.Q!l.'.ttt't't.ﬁ..'..l'ﬁiltttﬁti.

L

:*TEST 26 TEST "'CMPN'' WITH SRC1 = SRC2
S INARARARANARARAARARA AR AR TR RRRNARARERRNERANRAAAANAARAANRTAARARS
007466 000004 TST26: SCOPE
007470 004567 005236 JSR RS _NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
007474 000004 [ sSOURCET LENGTH
2627 007476 887640 S1T26 ;SOURCE1 ADDRES
8 007500 & ;SOURCEZ LENGTH
007502 007?“ 8;726 +SOURCE2 ADDRESS
26 007504 w 77 377 :STORE NON-ZERO VALUE TO TEST R& UNAFFECTED BY “CMPN'’ IN
1 0075 567 005332 JSR RS . XPSW
3§ 00751 ooo;oa LWORD 204
2633 007514 004767 005240 JSR PC,.GENR :SET UP GENERAL REGISTERS
007520 000277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC°'S
35 007522 000244 cLZ
%gg 007524 076052 CMPN
2639 007526 106767 171144 MFPS CCODES :STORE RESULTANT PSW
52‘40 0075 042767 177400 171136 BIC #1776400,CCODES ;CLEAR UNUSED BITS
1 007540 023767 000700 171130 CMP SNEXPPSW,CCODES :CHECK PSW AGAINST EXPECTED VALUE
2642 007546 001401 BEQ 648 :BR, IF EQUAL
264 007550 104001 ERROR 1 sannnnnnanantanaTEST 26 = ERROR 1etnnnsanannenns
2644 :PSW ERROR :
2645 :EXPECTED PSW IS STORED M."SAVR_Q '
%6106 ) :ERRONEOUS SP VALUE IS AT 'BADRS
647 07552 64$:
2648 007552 005700 TST RQ sCHECK RO=0
2649 007554 001401 BEQ 5%
2650 007556 104002 ERKOR senknnenenecenasnJEST 26 = ERROR 2ttaraaatnstnnny
2651 RO SHOULD BE ZERO
525; 007560 005701 65$%: TST R1 sCHECK R1=0
53 007562 001401 BEQ 63
2654 007564 1064003 ERROR sennnennnnnennesxTEST 26 - ERROR L LRI TR ]
2038 007566 005702 668: IST R RNECK Raoo T ZERO
N 3 =
56 887570 001401 BEQ 6;8

g\h
8
~
i
~
Y
m
2
%

sannnnnannenteasTEST 26 = ERROR Lrrevnnnnnannene

59 :R2 S D BE ZERO
007574 005703 67%: TST R3 s CHE me
1 007576 001401 BEQ 288
%:“2‘5 007600 104005 ERROR ;;;t;tttt;tsgt;;{SSI 26 = ERROR Sttswasresanantnn
007602 020467 171046 688:  CMP Ré,DSTLN :CHECK R4 UNCHANGED




)
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CVKAJB.P11 ZggJM-OZ 0‘:6 126 TEST *'CMPN'' WITH SRC1 = SRC2 . SEQ 0051
2 88;61 1 Irod Eggoa g” E%téitﬁzsitctﬂ’esr 26 = ERROR ftertesannanttnne
;R4 CHANG
JRG S D STILL EQUAL CONTENTS OF *FILL'
007612 020567 171040 698: CMP RS,.DSTAD sCHECK RS UNCHANGED
70 00761 1401 BEQ 708
71 007 104007 ERROR 7 ;;;t;nn;;nnﬂﬁt 26 = ERROR 7ttttattatntttas
sz RS SHOULD STILL EQUAL CONTENTS OF ‘PSTAD"’
76 007622 0237 000702 708: CMP a#SAVR6, SP :VERIFY STACK POINTER IS RESTORED
75 007626 00140 BEQ 718 :BR IF_OX
76 0076 010637 000704 MOV SP,a#BADRG :COPY BAD SP VALUE
6 007636 104010 ERROR 10 JannnnnnnnnsaansTEST 26 = ERROR 10%atesanatttttns
78 sSTACK POINTER NOT RESTMEP 8Y IQJ.STRUCTIW
79 ;EXPECTED SP IS STORED AT .'SAVRG''
;gg? ? 718 :ERRONEOUS SP VALUE IS AT 'BADRé6
Zgg; 007636 000404 BR TST27 :BR TO NEXT TEST
2 007640 $1726: :SOURCE1 STRING
sgglo 007640 071 BYTE T :MOST SIGNIFICANT DIGIT
S 007641 066 BYTE 66
268? 00764 06 BYTE 8
2687 007564 06 BYTE
2688 7 S2T26: sSOURCE2 STRING
2689 007644 071 BYTE 71 :MOS: SIGNIFICANT DIGIT
2690 007645 066 .BYTE
2691 007646 06 BYTE 6
2692 007647 06 BYTE
2693
2694 .EVEN
i
2697 IIRARARARAARAARARARAAA AR RAERRARRANRAARAARIRRARAREARRARARACRAEAS
2698 :«TEST 27 TEST *°CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, NEGATIVE SOURCEZ2, POSITI
2649 A ARRAAARAANAAAA AR RN ANRARNARRRARNAANAAAAAAARARAARANARANAAARR
2700 007650 fS127: scope
2701 007652 004567 005054 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
2702 007656 % sSOURCE1 LENGTH
2703 007660 010020 S1727  :SOURCE1 ADDRES
2704 007662 4 sSOURCEZ2 LENGTH
2705 007664 010024 5;727 :SOURCEZ ADDRESS
709 0076% 000 7 :STORE NON=ZERG VALUE TO TEST R& UNAFFECTED BY ‘‘CMPN'’ IN
707 0076 004567 005150 JSR RS, XPSW
708 007674 ; LWORD 200
709 00767 67 005056 JSR PC,GENR ;SET UP GENERAL REGISTERS
;1-(1) 00770 277 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
;}g 007704 076052 CMPN
714 88 106767 179764 MFPS CC%ES :STORE RESULTANT PSW
715 771 767 177400 170756 BIC #177600,CCODES ;CLEAR UNUSED BITS
;}9 ;77 ’Z { 000700 170750 glsl; vg)(PPSU.CCODES :CHECKFPSU AGAINST EXPECTED VALUE
718 77 104001 ERROR En‘ttunnnntﬁsr 27 = ERROR 1rassnsssnnntene
719 :PSW ERROR . o
720 :EXPECTED PSW IS STORED AT ‘‘SAVRé




N &
. . - PA 53
m.l'm“" "0‘22 0‘2 sAN-BZ . 50 - TEST "'CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, NEGATIVE SOURCEZ2, POSITIV SEQ 0052

1 s :ERRONEOUS SP VALUE IS AT 'BADRG"

7 g % 8§irgo . gg ng’ ;CHECX RO=0

4 S ERROR s senannnennenaeaaTEST 27 = ERROR 2etennneneennnns
%
1

g

;RO S DDEZEO
CK RI=0

00774 65%: TST R1 CHE
774 BEQ
77 3 ERROR -t;n“utn"nﬁﬂ 27 = ERROR Jtntasnninttadnsn
:R D BE ZERO
007746 5702 66S$: TST R; :CHECK R2=0
775 1401 BEQ 67%
775 1046004 ERROR 4 -ntntutnunl’est 27 = ERROR 4rannanannntnnns
D BE
007754 005703 678:  TIST R3 cnsé"%c
007756 001401 BEQ 688
007760 104005 ERROR 5 sannnannnennanatTEST 27 = ERROR Steeensnnnennnen
9 7762 0 7 170666 68 CMP R4 .DSTLN %;ng R‘Dﬁﬂﬁgﬂ
740 8377 05?231 BEQ 69% :BR IF OK
;21 00 104006 ERROR 6 3 ;ztzm;tnntfﬂ 27 = ERROR 6rarnanannadnasts
?l.g :Ré SHO%D STILL EQUAL CONTENTS OF "FILL'
744 7772 850537 170660 69%: cMP RS,.DSTAD s CHECK UNCHANGED
745 00777 1401 BEQ 708
7‘9 10000 104007 ERROR 7 sennnnnnnesantntTEST 27 = ERROR 7evttntssnnnnnen
74 RS CH-NGED . b
748 RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD
749 01000 3 000702 708: CMP a#SAVRG, SP -VERIFV STACK POINTER IS RESTORED
750 01 14 BEQ 718 ;BR IF OK
751 01001 000704 MOV SP,a#BADR6 -CM 8A" SP VALUE
75; 10076 104010 ERROR 10 sninennnnnattetttJEST 27 = ERROR 10tttnssvatantnane
75 STACI POINTER NOT RESTME!) 8y INSIRUCUN
754 E)(PECTED SP IS STORED VR6
755 :ERRONEOUS SP VALUE IS AT 'BADRéE’
7 10016 718:
75 10016 000404 B8R TST30 :BR TO NEXT TEST
753 100 s1727: SMCE! STRING
75 1 4! BYTE T .MST SIGNIFICANT DIGIT
760 010021 4 .BYTE 7
762 010038 ° BYIE &3
78 188 & ser27: s SOURCE2 smns
726 10024 71 BYTE 7 .nosr SIGNI  ICANT DIGIT
766 010058 6% BYTE 65
729 1 16§ BYTE 163

sRRRRRARRARRRACARAAANCRCCACREAARAAAANAAARANAAAAAAANAANAAANACAACES

tTEST 30 TEST *'CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATI
;77; " i‘ ;;ant;z;gnntnn"nt"nnntnnntnntnntntnnnnt
776 81%33 88222’ 004674 " JSR RS ,NPREP ;PREPARE ARGUMENTS FOR INSTRUCTION TEST
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CVKAJB.P‘H 23&!"‘-&2 0‘:43 130 TEST "'CMPN'* WITH IDENTICAL NON=ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATIV SEQ 0053

777 0 & :SOURCE1 LENGTH
;773 1 S1T30 ;SOURCE1 ADDRES
1 4 sSOURCE2 LENGTH
780 01 $3130 :SOURCEZ ADDRESS L ,
781 0O 7 :STORE NON=ZERO VALUE TO TEST R& UNAFFECTED BY ‘'CMPN'' IN
ng 1005 004770 JSR RS XPSW
783 01005 LWORD 210
;g& 100 004676 JSR PC,GENR :SET UP GENERAL REGISTERS
S 01 SCC :SET UP THE COMPLEMENT OF EXPECTED CC'S
778? 010064 CLN
;gg 010066 CMPN
790 010070 170688 MFPS CCODE%O :STORE RESULTANT PSW
791 010074 1774 170574 BIC #177400,CCODES ;CLEAR UNUSED BITS
773 }8}(1) 000700 170566 5'5'; a;xPPSU.CCODES :CHECKFPSH AGAINST EXPECTED VALUE
796 01011 ERROR 1 :-n;nﬁnnnnﬂfst 30 = ERROR 1tavnantsntnatns
795 sPSW ERROR
2 :EXPECTED PSW IS STORED AT, ''SAVRG'
279 :ERRONEOUS SP VALUE IS AT 'BADR6
5798 210114 648:
799 010114 005700 TST RO ;CHECK RO=0
2800 010116 001401 BEQ 65$%
801 010120 104002 ERROR 72 sannnnnenneenaasJEST 30 = ERROR 2%ttattattttttnsy
80 RO SHOULD BE ZERO
2803 010122 005701 65$: TST R1 :CHECK R1=V
2804 0101246 001401 BEQ 66$
%805 010126 104003 ERROR 3 shnnnnanenanneansTEST 30 = ERROR 3ttrantanatttnns
806 sR1 SHOULD BE ZERO
807 010130 005702 66$: TST R2 :CHECK R2=0
808 010132 001401 BEQ 67%
2809 010134 104004 ERROR 4 snnnnnnnnnnneassTEST 30 = ERROR 4rvsansnnnnennns
810 :R2 S D BE ZERO ,
811 81 01 38 005703 67%: TST R3 sCHECK 0
1 10140 001401 BEQ $
g’l‘ ook 10600 ERROR :;;""“;t"ﬁ;E;EST 30 = ERROR Sttttsnsannntnns
H BE 0
2815 010144 020467 170504 68S$: CMP R4 ,DSTLN sCHECK R& UNCHANGED
816 010150 001401 BEQ 69$ :BR IF OK
g}. 010152 104 ERROR 6 :*Z"*“*E;“"*TEST 30 = ERROR Grransantantnnns
;R4 CHANG
819 :R& S D STILL EQUAL CONTENTS OF "FILL'"
810154 0 587 170476 69%: CMP RS ,DSTAD :CHECK RS UNCHANGED
1 010160 001401 BEQ 708
825 010162 104007 ERROR 7 :ttttm&tttttttTEST 30 = ERROR 7ttsantnttntttes
:R3 C ED
gslo :RS SHOULD STILL EQUAL CONTENTS OF °‘DSTAD'
S 01019‘ 000702 708: CMP a#SAVR6, SP :VERIFY STACK POINTER IS RESTORED
gss 10172 14 BEQ 718 JBR IF OK
101 1 000704 MOV SP,a#BADRG sCOPY BAD SP VALUE
82 10176 106010 ERROR 10 sunnnnnannanastsTEST 30 = ERROR 10reessananannnns
:STACK POINTER NOT RESTOREP BY INSTRUCTION
:EXPECTED SP IS STORED AT .SAVRG'
831 :ERRONEOUS SP VALUE IS AT °‘BADRG'’
832 010200 718:




CVKAJB.P
3

b e B b ol :
CO000000000
W

b ) e el e
B
-0

[
2 010246
010250

010252
10256
869 010264
010272

000404
7

o

o -
S R

REE

004512

HAC“‘Ing( M—gZ 052-%"0-82 08:

c 5
50 PAGE SS

TEST ''CMPN'* WITH IDENTICAL NON-ZERO MAGNITUDES, POSITIVE SOURCE2, NEGATIV SEQ 0054

TST3 :BR TO ﬁXT TEST
S$1730: SOLRCE STRING
BYTE 70 MST SIGNIFICANT DIGIT
BYTE 66
BYTE 64
BYTE 162
$2730: :SOURZE2 STRING
BYTE 70 MST SIGNIFICANT DIGIT
BYTE 66
BYTE 64
.BYTE 62
.EVEN
L L L bbb ittt heuiiddbuabiddiad
tTEST 3 TEST '‘CMPN'* WITH +SRC1 & -SRC2, S1L = S2L, /S1/ .GT. /S2/
?s;g;ttt;;;gtttttttttttttttttttttlt.ttttttttttttlttttttttttttttt
JSR RS .NPREP PREPARE MMHTS FOR INSTRUCTION TEST
2 ;SOURCET1 LENGTH
131 SMCE" ADDRES
:SOURCE2 LENGTH
5;731 SMCE ADDRESS
377 STME NON=-ZERO VALUE TO TEST R4 UNAFFECTED BY "'CMPN'’' IN
JSR RS  XPSW
LWORD 200
JSR PC,GENR :SET UP GENERAL REGISTERS
fchﬁ :SET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
MFPS CCODES :STORE RESULTANT PSW
BIC #177400,CCODES CI.EAR UNUSED BITS
CMP USXPPS .CCODES CP CK PSW AGAINST EXPECTED VALUE
BEQ ?‘ .BR. EQUAL
ERROR Q;QQE;;E;QQQQQQTEST 31 = ERROR 1ttttnsananttven
EXPECTED PSW IS STORED AT *'SAVR6'*
648 E RRONEOUS SP VALUE IS AT 'BADRG"*
TSt ag ;CHECK RO=0
BEQ g §
ERROR sennnnnannaaaanaTEST 31 = ERROR 2etnestanssnanns
RO SHOULD BE ZERO
65%: TST R1 CHEC R1=0
BEQ g“
ERROR tttttttttttttttTEST 31 = ERROR 3tttrtnsnnnnntnne
o8 ookl
ERROR 4 ,ntnntnnntTES‘l’ 31 = ERROR 4rraxannasnttate
:R2 D BE ZERO
67%: ST K3 CHECK R3=0
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TEST "'CMPN'* WITH +SRC1 & -SRC2, SIL = S2L, /S1/ .GT. /s2/

SEQ 0055

Esgoa g” ttttttttlttttttTEST 31 = ERROR Sttntttc-.-tttt§
:R3 D BE ZERO
68$: CMP R4 ,DSTLN CHEC R UNCHANGED
BEQ 69$ :BR IF OK
ERROR 6 tzt.ttttl;t.tttTEST 31 « ERROR Grttnnntnttttts
SHO%D STILL EQUAL CONTENTS OF *FILL'
698: gg %‘DSTAD HANGED
ERROR 7 t;tttt'tttttttthST 31 = ERROR 7tttttnasttntten
:R
RS SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'’
708: CMP @#SAVR6,SP VERIFY STACK POINTER IS RESTORED
BEQ 718 :BR IF OK
MOV SP ,a#BADRO ;COPY BAD SP VALUE
ERROR 10 tttttttt'tttttthST 31 « ERROR 10ttasstttentenes
STACK POINTER NOT RESTMED BY INSTRUCTION
E XPECTED SP 1S STORED AT '‘SAVR6'’
7$: E RONEOUS SP VALUE IS AT 'BADRG'’
" BR TST32 :BR TO NEXT TEST
S1731: 'SMCEI STRING
BYTE ™ sMOST SIGNIFICANT DIGIT
BYTE 66
S$2T31: sSOURCE2 S
.BYTE 69 MST SIGNIFICAM DIGIT
BYTE 171
.EVEN
IRARARARAAARAARARAAAAEAEATRERRRCANRRARAARAARARARAAAARARARCRARCNSE
'TEST 32 TEST "‘CMPN'* WITH =SRC1 & +SRC2, S1L = S2L, /S1/ .GT. /S2/
fg;;stttgza;gtttttttttt'ttttttttttttttttttttttttttttﬁttttttttt'tt
JSR RS .NPREP -PREPAR ARGUMENTS FOR INSTRUCTION TEST
3 JSOURCET LENGTH
17132 SOLRCE! ADDRES
2SOURCE I.ENGTH
;132 SOlRCE RESS
7 °$TME M—ZERO VALUE TO TEST R& UNAFFECTED BY ‘'CMPN'’ IN
JSR RS  XPSW
LWORD 210
JSR PC,GENR ;SET UP GE'ERAL REGISTERS
EE'E‘V!SEZ!SEC :SET UP THE COMPLEMENT OF EXPECTED CC'S
CMPN
MFPS 99 :STORE RESIM’ANT PSU
BIC #177400,CCODES CI.EAR UNUSED B
S?; zEXPPSU .CCODES : &iﬂl}rl’sw AGAINST EXPECTED VALUE
ERROR 1 'tttttttttttttttTEST 32 = ERROR 1vttnnassntsennt

:PSW ERROR
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CVKAJB.P11 2394»»-32 0‘: 132 TEST *"CMPN'* WITH =SRC1 & +SRC2, SIL = S2L, /S1/ .GT. /Se/ SEQ 0056
S :EXPECTED PSW IS STORED AT *'SAVRG'*
E RONEOUS SP VALUE IS AT 'BADRG™
910454 64S:
10454 5780 TST Rg ;CHECK RO=0
1 1401 BEQ $
1 002 ERROR ttttttttttttttttESt 32 = ERROR 2ttetantsannnnnn
1 SHCII‘.
i 18‘4‘6& 5781 65$: TST R1 CHEC
1 1401 BEQ
10466 104003 ERROR OQ;tttttttt;EtttTEST 32 = ERROR 3ttsatntttntttns
D ZERO
1 S 66$: TST R 'CHEC R2=0
S10e73 001401 B0 65
g 010476 104004 ERROR 'A t;ttttttttttt;ETEST 32 = ERROR 4rrantansntttane
' :R2 S D BE
010476 005703 67%: 13T R3 +CHECK 0
1 0105 001401 BEQ
1050 104005 ERROR sennnnnnnestaeasTEST 32 = ERROR Stttttt'ttttt.tt
R3 SHOULD BE ZERO
010504 67 170144 68$: CMP R4 ,DSTLN CHECK R4 UNCHANGED
S 01051 1401 BEQ 69$ :BR IF OK
1051 1 ERROR & tztttttt;ttttttffo 32 = ERROR 6rtnassanannannn
R HANGED
SH%D STILL EQUAL CONTENTS OF ‘FILL"
010514 020567 170136 698: CMP RS,.DSTAD HANGED
010520 001401 BEQ 708
0105 194007 ERROR 7 t;tt;:;;;;t!l.tTEST 32 = ERROR 7rtansstnsttttns
C
RS D STILL EQUAL CONTENTS OF ‘DSTAD''
0105516 023 000702 708: CMP a#SAVR6,SP VERIF Y S'I'ACK POINTER IS RESTORED
0105 00140 BEQ 718 :BR IF OK
010532 010637 000704 MOV SP,a#BADRG CWY BAD SP VALUE
010536 104010 ERROR 10 tttttttttttttttTEST 32 = ERROR 10tttssaattntatns
STACK POINTER NOT RESTMEP 8Y lNSl’RUCTI(N
EXPECTED SP IS STORED AT ‘'‘SAVR6'’
EMWS SP VALUE IS AT 'BADR6"’
010540 718:
010540 000403 BR TST33 :BR TO NEXT TEST
1054 S17T32: SOUICE1 STRING
1054 82% .BYTE zg MST SIGNIFICANT DIGIT
1054 .BYTE
10544 161 BYTE 161
10545 §$2132: :SOURCE2 STRING
10545 1 BYTE 61 MST SIGNIFICANT DIGIT
105&9 3 .BYTE 93
1054 070 .BYTE 0
.EVEN
IERRRAARARARRRNARAAR R RERERERRARRRNARRRARAANARRAARAARARNRCTRAENORS
SeTEST 37 TEST ''CMPN'* WITH S1L = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREAT
R I It et e et 1 e g 1 L
10550 83220‘ i§733:  SCOPE
10552 87 004154 JSR RS .NPREP :PREPARE ARGUMENTS FOR INSTRUCTION TEST
10556 4 SOI.RCE LENGTH
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10’

000404

7 0046250

004156

17
17928% 170054

000700 170046

167764
167756

000702
000704

MCVHZ .jm oszzsm-az 08:5?33”65

64$:

65$:

67%:

69%:

708:

718:

58

TEST "'CMPN'* WITH SIL = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREATE SEQ 0057
sSOURCE1 ADDRES

TST
BEQ
ERROR
TST
ERROR
TST
BE
ERROR
TST
ERROR
CMP

ERROR
CMP
BEQ
ERROR
CHP
BEQ
ERROR

F 5

21 733
39
RS XPSW

210
PC,GENR

CCgDES
#177600,CCODES
i'iXPPSU.CCODES
64

5,
R1

g
5,
R3

g

R ,DSTLN
295

RS,DSTAD
;oi

”gAVRG .SP
%.mns

TST34

sSOURCEZ LENGTH
: SOURCE ADDRESS

:STORE NON=-ZERO VALUE TO TEST Ré UNAFFECTED BY ''CMPN'’ IN

sSET UP GENERAL REGISTERS
;SET UP THE COMPLEMENT OF EXPECTED CC'S

:STORE RESII.TMT PSU
;CLEAR UNUSED
: CHECK PSW AGAINS'I’ EXPECTED VALUE

EQUAL
"unnnnuﬂESt 33 = ERROR 1ttttntsnantants

PSW_ERROR
'EXPECTED PSW IS STORED AT, ‘‘SAVR6'
;ERRONEOUS SP VALUE IS AT ‘BADR6"

;CHECK RO=0

tnnnnnnn]’ESt 33 =« ERROR 2ttttatttttttats

sRO_SHOULD BE ZF"0
:CHECK R1=0

sunnnnanananaataTEST 33 = ERROR Jrtnnnnnnnannens

:R1_SHOULD BE ZERO
:CHECK R2=0

-nnnntnnul’sst 33 « ERROR 4ovatnnatntattesd
RZ Sl'%zoﬂf

nntnnunutfﬂ 33 « ERROR Strasntntaaetanns
83 D BE ZE

.CHEC UNCHANGED

:BR IF (K

nntttnnnnl’EST 33 =« ERROR Grttnsnssntnnnns

‘ HANGED
SH%D STILL EQUAL CONTENTS OF ‘FILL"
HANGED

-tntntnnnntfst 33 = ERROR 7tttttsattntttns

sR3 CHANGE

Rg SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'
&E‘R{FV mSTACK POINTER IS RESTORED

;COPY BAD SP VALUE

ntnnnnnntsy 33 « ERROR 10rtassssnanttans
:STACK POINTER iwi REST(REP 8Y gnsm:cnou

:EXPECTED SP IS STORED AT
:ERRONEOUS SP VALUE IS AT 'BADRG"

;BR TO NEXT TEST
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W.Pﬂ TEST "'CMPN’* WITH SIL = S2L, POSITIVE SOURCE2, SOURCE2 MAGNITUDE IS GREATE SEQ 0058
7 01 31733= :SOURCET STRING
1 7 BYTE 67 PDST SIGNIFICANT DIGIT
1 LYTE 62
1 BYIE 6
1 BYTE 664
1 $27133: OURCE2 STRI
1 7 BYTE 67 T SIGNIF ICANT DIGIT
107 BYTE bg
S 010 BYTE 6
10731 S BYTE 65
.EVEN
73
71 IRRRARARARARAEARAARARECERERERRARRRRARAAARAAANAAANCRERARCRARCRONSE
;‘; tTEST 34 TEST "'CMPN'* WITH S2L .GT. S1L, SUCCESSFUL COMPARE
t.t-ttcttanttntt-tttatctttttttttttttttttttttttatttttottttctttt.
7% 10;8 #8734:  SCOPE
75 010 004567 003772 JSK RS .NPREP :PREP. ARGUMENTS FOR INSTRUCTION TEST
# 107‘? 2 2 SOU!CE LENGTH
1074 11104 S1T364 ;SOUPCE1 * ADDRES
78 010744 & s SOURCE I.ENGTH
79 0107 11 5;134 : SOURCE DRESS
80 107 3 7 STME M-ZERO VALUE TO TEST R4 UNAFFECTED BY ‘CMPN'' IN
8 010752 004567 0046066 JSR RS XPSW
82 0107 ;oa LWORD 204
0107 g 003774 JSR PC,.GENR :SET UP GENERAL REGISTERS
010764 2 SCC SET UP THE COMPLEMENT OF EXPECTED CC'S
010766 000244 L2
010770 076052 CMPN
010772 106767 1%700 MFPS CC?DES sSTORE RESULTANT PSW
10776 042767 1776400 167672 BIC #177600,CCODES .CI.EM UNUSED BITS
11004 85 767 000700 167664 CMP SNEXPPSW,CCODES ;CHECK PSW AGAINST EXPECTED VALUE
11012 14601 6EQ 648 sBR, IF EQUAL
11016 104001 ERROR 1 nnnntnnnl’ESt 34 = ERROR 1setsssansanttte
ERROR
°EXPECTED PSW IS STORED AT "SAVR.Q“
:ERRONEOUS SP VALUE IS AT 'BADR6
811016 64$:
09 1101 885700 TST ng sCHECK RO=0
99 0110 1401 BEQ $
100 11022 104002 ERROR saknnnnnnkannansVEST 34 = ERROR 2ttrsantnntntnns
101 :RO SHOULD BE ZERO
1 g 118 4 781 65%: TST R1 CHE K R1=0
1 1 1401 BEQ
104 110 104003 ERROR nnnnntnnl’sﬂ 34 = ERROR 3tasnnsasastttnt
105 sv%o BE ZERO
log 110 5702 66$: TST R
10 110 1401 BEQ 6
1% 110 106004 ERROR & tttttttttttttttl’EST 34 = ERROR 4rttnnsssntnnsne
1 IIZ SH%D BE ZERO
110 011040 5783 67%: TST R
111 01104 14601 BEQ $
112 0N 104005 ERROR ;nnnnnntnl’ﬁﬂ 34 = ERROR Stessnnstnsatnns
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CVKAJB.P TEST "'CMPN'* WITH S2L .GT. S1L, SUCCESSFUL COMPARE SEQ 0059
113 :R3 D BE ZERO
11; 1)) 7 167602 68$: cMp R4 DSTLN sCHECK R& UNCHANGED
115 011 1 BEQ o8 :BR IF OK
119 1 ERROR -;tnnnt;nnﬂfsr 34 = ERROR frennsnnntnentes
11
113 sm%o STILL EQUAL CONTENTS OF "FILL"
11 11 587 167574 69%: CMP RS.DSTAD HANGED
1 1 1401 BEQ 0§
121 1 ERROR -nnnnnnnﬂ’sst 34 = ERROR 7etessattnttttts
1 :
1 ; SHOULD STILL EQUAL CONTENTS OF ‘DSTAD'*
126 011 3 000702 708: CMP a#SAVRG, SP VERI" STACK POINTER IS RESTORED
125 0110 1 BEQ 71$ BR IF 0K
1 1107 1 000704 MOV SP,a#BADRG .C(PV BAD SP VALUE
1 11100 1 10 ERRDR 10 JennnnnannenennsTEST 34 = ERROR 10tsssssssasttnne
1 STACK POINTER NOT RESTMEP 8y INSTRUCTIOG
1 °EXPECTED SP IS STORED AT '‘SAVR6'' .
1 :ERRONEOUS SP VALUE IS AT ‘BADR6’
131 11183 718:
1 m 000403 ER TST3S :BR T0 DEXT TEST
1 11106 S1734: :SOURCE1 STRING
1 11104 7 .BYTE 7 sMOST SIGNIFICMT DIGIT
135 011105 on .BYTE 1
139 811106 $2T34: :SOURCE2 STRING
13 11106 BYTE 60 MS‘I’ SIGNIFICANT DIGIT
138 811107 .BYTE 69
139 011110 067 BYTE ?
}2(1) oM 071 .BYTE 1
}l& .EVEN
144
145 SIARRRARARRRARARARRAR A RR TR RRRRRAARARANAAARNAAANAAAAAARAACRARORNS
149 'YESY 35 TEST *'CMPN'’ WITH NEGATIVE OPERANDS € SRC2 LENGTH .GT. SRC1 LENGTH, NON-Z
14 I e e et L A
1‘3 11112 t8735:  SCOPE
14 11114 003612 JSR RS .NPREP sPREP ARGUMENTS FOR INSTRUCTION TEST
150 1112g ¢ SM E1 LENGTH
151 0111 S1735 SMCH ADDRES
15;<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>